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HEH-o — Qung sifley

Part-A — General Studies

s&er o 1-1
ghanmss® 00 Gll.ﬂrrgsgs wdHitluemrsdr : 150

ions : 1-
Question 100 Total Marks : 150

i
A Which one of the following pairs is wrongly matched?
Revolt Areq
(I) Ramosis —  Poona
(II) Kuka —  Punjab
(ITII) Santhals —  Orissa
(IV) Kittur —  Malabar

(A) (D) and (ITT) only
[ ® (D) and av) only |
(C)  (IV) only
(D) (III) only
(E) Answer not known
Aeraumib Eenemsaiics seupreraupeny san(ids. :

Hlarriried) Ligg
(1)  onGerdlei —  uen
(1) s — O LgRE
(I1I) snseien - gifilen
(IV) & @i - LogoL it

(4) (D wpgw 11D weGw
[ ® am wopn @V) wcen]
(C) (IV) wi b
(DY (1D wi b
(E) sflen Qg fwstidena

[
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itted by

i : - ithm
2. “Ppoblem of the Rupee” is the Lhesia 8t

(A) Dr. B.R. Ambedkar I

(B) M.G. Ranade
(C) J.C. Kumarappa

(D) Mahalanobis

(E) Answer not known

“epumufler SyFsenan ereiiD Slaufismsan —— ol
I{_AJ' L& i BiLDE L ST I

(B) war. Gar grenGL

(C) Gg.&. wuwruur

(D)  warawGarme

(E) dflen Gsflweahdena

Who wrote a series of articles entitled ‘New Lampe for 01d?

(A) Dinshaw Wacha
(B) Dadabhai Naoroji
(C) Surendranath Banerjee
[ ) Aurobindo Ghosh |
(E) Answer not known
‘M, eombuse surh Geurdl eadrgub geelbd & Henrs Gsmfenen
erpdlwaut wri?
(A) Semasm eundsr
(B) srgrumi QuerGrmgils
(C) =Copflrmns urenigd
I (D) swalpGsr Camas, I
(E) eflenr. Qufluaficensy
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CAA
)
(d | ®) (c) ()
(n 3
2
) 1 r 4 3
| 2 3
(B L .
k 4
2
© 5 1 4 @
@)

Answer not kn?wn
(E)

M witly ia

Imml.tull :

i e Gummbsayn
T &0 W e 8 (m #g

G GUT TR SHEE &M

caigmlD B

(TFPHATT 1. f;tum;w
(a) 2. G&m
() CICEF 3. Qedreen
© NFDB 4. evampymuns
@ CAA -
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L)
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A | 3 ]
s 1 7 %
C) 2 » 4 2
3 1 "
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senle industries
5. Assertion [A] @ In Indin, Lthe t.rn{liliunn] Hmﬂ;:_gntiﬂl than the
have greater employ T"Enf’ p
modern small scale industries. - o aiSiRA
Reason [R] The value of capital Per wcrkf;an the value of
amall scale industries 18 smaller kW Lol
eapital per worker in the modern
industries. hation
(A) Both [A] and [R] are true and [R] is the correct expla
of (A tion
(B) Both [A] and [R] are true but [R] is not 8 correct explana
of [A]
[(© 1A is true but [R] is false |
(D) [A] is false but [R] 1s true
(E) Answer not known
: : iyl A Qg myleosmer il &
S . ?ﬁfﬁgjﬂiumu ? iy ﬂgf 4 ﬂgn@s‘i}mmmﬁﬁ-h_

LI i ekl eimm e,
unrribuflw ApGsmnfasaia Garyflarerm Gpenauii(Gild
prenger nEIIL  (EeEmDeu THELD metien Fm Qgﬁ@mﬁﬁ:‘r:lsh
Gemflararmscs CgepauiLiiib fLpEd & e Bl
=iflsomsa b o aTas. :
(A) [A] wpmd [R] @rawme &M woppn [R] eenug [Alssven &r‘ﬂp_nr_aurr
chlem&sih
(B) [A] wpmb [R] @rar@i &M syarme [R] ereémug [Alufisr sflwimes
cileré&sih @ldened
[© 4] s myame [R] sam |

(D) [A] seup gyemmed [R] sM
(E) eflenc Gaflwehicena

smyed [R]  :

CCSE2T/2024



which of the ['n'lluwing

Blntomong s COrreet?

is the main targe . =
Year Plan (X1 FY ) rgel of Elevonth Five

Inclusive growth are main Largetg
of Eleventh Five Year Plan s

(n) Baquitable developmoent
Ly Rapid, sustainable and more
(A) DBoth (a) and (b) are correct
(B) (b) alone is correet

I{C.] (a) alone is corroct I
(D) Both (a) and (b) are incorreet
(B} Answer n-:I:»t. known

emauheusieubmeT ety Fflurarans ?

snESQULDreT AhenBemhmib 1lsug mpsnan@s £ S8eh CEr&sL L.

ifGeusiorer, Benawimen inhmb iflsCigimer o drerlkfly suarrsd

llaug misnadr®s Sl gfen apsdiu Gpmd s iisarngih

(a)

(b)

(A) (a) uwpgd (b) GEosiw@ib sfiumenenas
(B) (b) w G sfivrens

(© (a) wr @ shures |

(D) (a) whpn () @remEd saupramee
(ﬁ.} cflen_ @afucfdbens -

CCSE2T/2024
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rding the target of literacy
ga

¥ Which among the following i correct re
' 504 within the plan f"“'::. : I

(A) to increase of literacy to 7 S ferrr
(B) to increase of literacy to 80% within the ilan PEriﬂd

(C)  to increase of literacy to 70% within the Seiod
(D) to increase of literacy to 85% within the plan P

(E) Answer not known
Senaymeueneubper ussranE srapdd sflwmear sl

Elevdi
I {'.A} FlLsmrwsfa 75 ehlppdsnins sehehluiglsahle o _uifEy I

(B Al Earagzdo 80 dussn s sodubein L ia
(C) A ssrassa 70 sflppEsn_rs soeflubleid e wray *
(D} ,-ﬂL'_L_-B“iaEH-EDﬁﬁld} B85 QE]{H&;;,”L“JE sdeflwfeflcs 2
()  eflen QaMuicfcrenas

& {;ﬁ,m,_r'rurrmr

Consider the following statements and identify the correct answer :

(A) The Central CIC is eligible for reappointment but the State
CIC is not eligible for reappointment

(B) The State CIC is eligible for reappointment but the Central
CIC is not eligible for reappointment

(C) Both are eligible for reappointment

(1) Both are not eligible for reappointment

(KE) Answer not known :

Spsnghih smbmisamer smid Qanan@, shunes e _eows Carplshss :
mg:;ﬁ]u_:mmtb smgdlwib, yerred

(A) wsfu sgoaamn ssad smamnumEs
winerid Frgdluinsien

mrr.iEIm S FHEAID BT IEES WD)
(B) wnfle smomo sseud menenmimmss wpEluineard Frgduin, qi,m;rd}
Wi saamn S0 Spenanuhde woifluiosrib Frddlnneban
(C)  BmeumssBo woluneanh srsduih- '
D) @maumssto wyFuwand &rr,isﬁu_rmd:um]

(E) efen Qaflucidena
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[-‘il“'l out the il'.u:-nrrnnl statoment nhout the Sarkarin Commission :
) The Commission wns appointed on 1983

i) The Commission made 247 recommendations

i) The Commission recommended to scrap the Article 356

(iv) The Commission recommended that the residuary powers of
taxation should be given to the states

I (A) (111) and (iv) only I
(B) (ii) and (iii) only
(C) only (iv)
(D (1), (G11) and (iv)
(E) Answer 11-.:11:. known

shasmiun Speenub LUBBL seuprar mbfleanar serHs :

() sissrilur geamun 1983-6 syerl gouBSsLLLLES
(i) Bbs seanub 247 ufgsarsmar aflEss

(i) snp 356-g pasasnE @ps earun ulEsorsss

(iv) eufladflonder edrer ergrfly  sflsmrisear  wrflomsadl b Eoss
Ceuatmr(Bitb eretim @)ihs <0600 L b 5160 551

|{A} (iii) whmd (1v) e Gib
(B) (ii) whgub (iii) wiGib
© av) wiEw

D) (), (ii) wopd (v)

(B) eflors Qpfuciidrens

9 CCSE2T/2024
[Turn over



10. Choose the correct pair :

Name of the President Elected Year
(1). Dr. S. Radha Krishnan — 1961
(2) :lDr. Zalir Hussain - 1966
(3) Fakhruddin Ali Ahmed - 1974
(4) N. Sanjeeva Reddy = 1997
(A) (1) and (2) are correct (B) (2) and (3) are correct
I (C) (3) and (4) are correct I (D) (1) and (4) are correct
(E) Answer not known
sflwner Gaemeow s s :
i;E:lH-“J!fﬁ.-ir saneoeult Gk - Coip@shHési L e
(1) Dr. S. grsr Smesemen — 1961
(2) Dr. srfir o Gaen — 1966
(3) usmer =6l ois0E — 1974
(4}. N. sgpfeas Qyiig | — 1977
(A) (1) wopd (2) sflwurarng (B) (2) whmub (3) sflwneng .
| © ®) wopn @ sturas | (0 (1) opigus (1) sMureng

(E) eflen.. Qsflweilaena

CCSEZT/2024 10



S Rk Ll ATALL vee

I fFind oul the Meorrectly mitehed,
1 "

@ Article 18

S

Aboli Lion of Mitles
i) Article 21 =

] a
Protection of life and personal liberty

4y Article 23 -eoti
(iii) Proteetion against arrest

(iv) Article 20

—

Right tn free movement

I (A (111) and (iv) are incm'rﬂﬂt]:.r matched I

re inm:-rreul;l:-.r matched
(C) () and (iv) are incorrectly matched

M (1) and (iv) are incorrectly matched
(E) Answer not Enown

Ep&ESST_auhmicr S T Blenemenuy men_ifles :
® Slepoyl8 L Ll ssme gEsse

() =l e gty 21 = Wilteumpges whph sefl wells sspdrsdbsman

ALATEISTOIL

(ilf) sl 2 gty 23 —  ®aag GelutiuRedlmbs LrssTTiLy

(iv) s e oy 20 =  sspilyons BUwnrReushasrer o fenn

I (A) (1) whmb (V) gsumren (@) enamr I
(B) (1) whmb (1) seupren Eenam

© () wppid (v) saiprer G
(D) (i) whgwe (iv) seupren Fenear
(B) eflenL QgMwehicoena

B - 11
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12. Whi
ich of the V,
- edie :
c ﬂdﬂ 18 liu“l.’l"jh{}d ne L!,“._! “lJU‘H'LI’l’JfU]" (}r I:!i l-iﬂHH

(A) Agnj

(C) Rudre I (13) Incra I
(1)) Vishnu

(E) AHEWE'I' not ki‘lﬂwn

BETESmar SHflCueurr eretrm e Goumd S (e .g.q'[ﬁiujllll.r{ﬁ"ﬂl“"""'?

(A)  mysaf I (B) @bdues I

(C)  wayen (D) cflaiyami

about Harapparnl culture?

13. Which one of the following is not correct
acter

pended on villages for

The Harappan cities de

lahourers

Harappan remains discovered even at 8
ure of Lothal is dockyard

©
2

(E) Answer not known

The most distinetive feat

£ psaim_suhmier QLT praflsn LHdl SeupreT hm erEl 7
o prefssfd senanss) [EL_m S EHLE FE"E-W mmesiilEth Qe gl

Uit i reT T (E&EE TS e

@M LT paﬁmﬁmﬁ p_stq.-.ta;rrﬁmLh.

FriBEGHES)
anguiLr prafasden asmsen Sl AgTomEaigih ble L ss )

(B)

©

D)
(E) eflen Gsfwelldeme

CGanggeler AplLbsd SEPDPSLD B, LD

CCSEZ2T/2024 18




- * == yEl TRLIES
FI

T

The Guplit CMporors holoes

Uhandreagupta 11 jssued only
rl““‘ﬂl

A Gold I

[ﬂ'" Silver

() Tin

@ Copper

() Answer not knowny

prrei rugEeneT WL BICn Qeueaflyg L‘_,_i!bﬁmﬁ'lu @IS \nEmestiTReT

{Pt} &M LD I

15

(C) B&sMD
(D) @iy

(E) eflen Gefwelidienss

Haque-i-Sharb (or) Hasil-i-Sharb means

(A) Land Tax

(C) Commercial Tax

(B) Trrigation Tax

(E) Answer not known

anmé-@)-am i) sdag anelld-E)-asmi erearugdr Glumgmern

@A) Fe auf I ol

(C) euenfls sul (D) sds sufl

(E) oflen QsMwelidvena

13
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16. Which of the following is correctly paired?

(i) Hematite Ore — Oxideof iron

(11) Magnetite Ore — Black ore
_  Dolomite

(iii) Limonite
Iron Carbonate

(iv) Siderite =
(A) (i) only

(B) (i) and (iii) only
© (@), (i) and Gv) only

(D) _(iii) and (iv) only I

(E) Answer not known

1Sl ereumalareubfich erenc Fifluwams @mmhuul_@&rmm'?
@ Oepweni grg — Bobdar HEeER
(ii) Cuwasar@l gig —  S@OUY ST

I U TR

i Creeny -
[:iv]; Flang L2 @iy sriuGer
(A) (1) wipib
(B) (ii) wihpb (iii) wi @b
© (@, (i) wppp (V) LD
| © GiD) wogis @v) wego |
(BE) «flenr Qafucldena

CCSE2T/2024 id



Densiﬁﬂﬂtiun And compaction are unit operations that are used to
7 : .
jncreasc the density of recovered materiale to reduce transportation

costs and simplify storage. This method is used in

(A) Composting of degradable waste in MSW

{EJ Transportation and Trangfay station storage of MSW

I (C) Construction of Landfill site for MSW I

(8]

Processing and the Recovery of waste components from MSW

(E) Answer not known

S s WwhpLd &smasinh eraigy Cundgaursgs Graa saners SHEn DL S hsb,
CslltiLseans el EnE@meusieih, B G Hssiur L Glumasl_sefles
L figHon oBefsn Hiustupin e Qewudurfsdr SR, @Bhs opanm

dlemaymih erhs pen mulles &L (B 5 L (B R o 7
(A) MSWgE@ wésh @ienusaar B ITLOMd &

(B) MSWgler Gunsmeaunss whpind ufiorpn e Geblo

I('D] MSWsasrar flob floviib gengbler &0 Hiomem I

(B) MSWdalmim syfley mmpsenears Hewarsgss whpn S Q. Gasa

(E) oflen @ &iflwielldoena

B 15 CCSE2T/2024
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18.

(1)
(2)
(3)
(4)
(5)

cial rain,

tly in Dubai, cloud sceding technology is used to get artl.ﬁ
mong the following are

The most commonly used seeding agonts a

Silver iodide

Di‘_‘ﬁ ice

Sodium chloride
Lead iodide
Ammonium sulphate

| »

(1), (2) and (3) only |

(B)
©)
@)
(E)

iarenioufien, Fumbd Guos sz GamPdmni U
L b (Rl Es LI L) .
15 ebreuimeustTeu Hm 6T

(3), (4) and (5) only
(1), (3) and (5) only
(1), (3) and (4) only

Answer not known
& Qrupens wanpaw Guo

STEned Qumgial mE afilangii| (LPEHEU THETITEH

2 UGWrdlssOL PSS U RS smpe 7

(1)
(2)
(3
(4)
(5)

Qeusraf] =Guwiranc
2 et Uil

Camg b @Garmeny(p
L e wirene (B

s Cuomafunb s

[ »

(1), (2) wppd (3) weGn |

(B)
(©)
(D)
(E)

CCSEZT/2024

(3), (4) whpd (5) wi Eib
(1), (3) womb (5) wi fGib
(1), (3) whmi (4) wiBib
eflen_ Ggfweaildma
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0 ‘Tamil Nng,, Dy

B
v VORI WV :
w
N L T l":

el
AR g AR
B T

i Celebryg o Very yonr on

( . |

© July s (B) June 18

BODBTE Bemy 7T PR

- E’Qﬁh ’ S G @ﬁg.;ﬂmﬁﬂsﬁ G]a.nﬂ‘-rrl_m._l:aumﬂmga
(C) &Yenan 8 ) g9 18 I
(E) oflan_ LV P ' el D >

Which of the fﬂlln::-wmg 18 correct]y Paired?

(1) 2014 _ Targat Gl}rmpic Podium Scheme

@ 2023 - Ny Yuva Bharat, vy Bharat)

(3) 1982 _ Sports Authnritj,r of Indig (SAD

(4) 1984 _ Dronach

(M)

Ar¥a Award was inaﬁh;m‘l
Omnly (2) is COrrect

(B) (1) and (2) are corpect I
() Only (4) is COrrect
(B)  Answer not known

and (4) are correct

AL T T =) emessr ETERG 7
(1) , 2014 — PElDEE G Eleo&ms S
(2) 2023 _ Sremm @enemu Lmpsn (WY LIy &)
(3) 1982 _ @) i w eflenanum’ B syenammun (SAT)
(4) 1984 _ SIS yrem & em® wiri

(A (3) @b =M
(C) (4) wi G =46
(E)  dfien Apluiciamena

B) (1) wpgw (2) =/

[Turm Gwek



21. A current of 0.5 A passes through a lamp for two minutes, then the
number of electrons pass through the lamp 1s

(A) 6.25x 10" glectrons
(B) 6.023 x 10* electrons
(C) 1.6 x 107" electrons

I (D) 3.8 x 10" electrons I
(B} Answer not known

0.6 A Sa&nCarriiih @efimb eflard sufuns Erar® ESl_miser umb&lpg
srefleh, eflerds eufCu Qeanp srdlmfarengpbsalar erabmanflsms

(A) 6.25 x 10"° ereéi_prensdr

(B) 6.023 % 10* aaar grersdr
(C) 1.6 % 107" gavsgrarser
I (D) 3.8 x 10® aas rrensdar I
(854 = T &6 il w el e em o

22, ISRO prE:'fer to launch Human space flight mission during
75t independence, the (crew member) explorer is named as

(A) Astronaut {B) Cosmonaut
l (G) Gagannaut I (D) Ganganaut
(E) Answer not known

@pHw efentlesall ey enwssra Thay sspflrssdr Curg geuiu@in
weaflsenens  Glarer@  Geagid diarsogfear  aflamr@euefly Lwesmb
CupClerdiasd @ eminient sreieung SienpssiinBieumt?

(A) e Grmmmt . (B) smeuGompm:
I_(G) ST I (D) smsmsm

(E) eflen Gaflweildema

18 B
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23

gelect the ¢hrunnlngir:n1 order of mentor — student chain in the

cstablishment of scientifie methods

A) Aristotle — Alexander _ Socrates — Plato

(B) Plato — Socrates — Aristotle — Alexander

(C) Socrates —

Plato — Aristotle — Alexander I

(D) Alexander — Aristotle — Socrates — Plato

(E) Answer ﬁut Enown

ASST  Yapsoa  Hpeedo
sreaiflensting CarbGlsMssan

anflemiy, — wreweut shdSla

(A) =fldvmiigd - mQassram i — FnEMesh — AGem_ GLm

(B)

GG CLr — swégeedy — aqm&m_m;qm — <oy Eendk s medrL_iv

(C) srdmesn - GCarc G - Ialﬁd‘ul.m'_q_i‘u — =Qedemer_iv I

D)  =Qessram r — sifleom gd — srépecy — 9Can G

(E) eflen. Gaflueclaens

‘19 CCSE2T/2024
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24, A foree of 1N nets on n body of mass 10 kg As a result, the hﬂd:.,-
covers 100 em in 4 seconds moving along a straight line. Find th,

initial velocity of the body.,

() Gemis
l (B) 5 emids I
(C) Secmis
(D) 12 emfs
(E) Answer not known

10 AGer eemiwsrer g Qurmaiss 1N e QewdrniGEng- Bgdn
eflenareuns mipgs Gurmper 4 eflemmgsafle 100 Q8 CprGsrigd BHHMHO

erafledy siger spmbu Caussamss sdrLHwab, .
(A) 6 Qs.b/cllarmg . ey e
re~* 4
I (B) 5 Gl Baflarmsg I -:.l';
% 5
-
%

(C) 8 Q.8 eflarmyg

(D) 12 Qe.f/ellammy :
(E) eflen. Qefushdana £

Green light shines on a rose flower. Then, the colour of its petals seems

25.
to be

(A) Green  (B) Pink

| © Biack | (D) Red

(E) Answer not known
ga(m Gomgr Bloueild uFens gafl @ﬂﬂ-ﬁaﬁlmﬂmﬂ. SUGLNG, s @sihsatlen

Bimwras Gorenmies)
(B) Qeueflifleuriy

(A). ubans
[© soou | (D) Saucy
(E) eflen Qsflwectdenc
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wveli  Lipgng “
L ilL" HL}."’{' - 1' '1 {_“11 0y . B
96 [[;1“*1"']'1“““1“' of India in ¢, Boration  was  eatablished

by  the
T yoeny
[ I;iﬁ (B) 1979

(€ (D) 1959

(F) Answer not knowy

Peuell  eSldenen

Gﬂpmlli;-ll'_luf_l_gﬂ? = BTGy e, e 1 euemn Bpdwu  mgardy  eriBuimg

(A) 12: I (B) 1972

© (D) 1959

(B) dleni Gafueiiciee

Arrange the following uniy e S /
27 the ent of establishment 1e8 in chronological order based on

(1) Manonmaniam Sundaranay University
(2) Bharathidasan University
() Thiruvalluvay University
(4) Periyar University

@A) - (2), (@), (1), (3)

(€ (1), (@), (4), (8)

(E) Answer not known

(B) (2), (1), (4), (3) I
D) ), @), @, @

Wpstsener seneu Blpeutir BENTin e Srereuflensliyg
@Y RGN Esa|lh ¢
(1) wCsmramoemfiunn SBSTETT Lichmenadiesypamih
(2) LI 7 & it et LISHEED )& S| ps b
(3)  Smeudngmeurr LIehSana SE|paih
(4) Gt L Sena &S path

@ @, @, @, 3 [® o0we |
© @), @, @, ) M), @, @), @)
(E) ocflen_ Qafiwchidena

CCSEZT/2024
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28.  Assertion [A] :

Reason [R]

Backward class commission under Ehpreﬂir?:;:th'in
of B.P, Mandal was appointed by the * 151249 "
exercise of the powers confessed by Article )

- icato
The commission has developed eleven HIHIRTo
to determine backwardness.

(A)  [A] is true but [R] is false
(B) Both [A] and [R] are true; and [R] is the correct explanation

of [A]

I (C) [A] iz false, [R] is true

(D) Both [A] and [R] are true; but |R] 15 not

of [A]

(E) Answer not known

apm [A]

sryenih [R]

mhp.rﬁ.mil_'lr_l ] [

FU L Unlifley 24087 fLpaiih Hendh(5
GTEAT LI GU R ]

sifangsdleng gemdud B.P. wer
GibuBsstuc L amOSammEsrer S aaTg  SeRelal TS

S smir.

Edusurenamuih Nengridlw Hlenaeni EI\'LDF[EB‘_HSE L1l Gl e

@blsm g senar o meumsdlusreng.

(A) [A] sflwreng <wearre [R] seupnens

(B) [A] wognd [R] @ran@Gin sflwneng: Gogub [R] syers [Alafbsnen
aflwrer eflendasb -

(C) [A] saupneng; [R] sflwnans

D amiinengl: spenna [R] ey [Alefpsmen

gflwner eflerdsh syeben

(E) efle Ggflwueldana

CCSE2T/2024
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patch the following ;

(n) Non-Brahmin Movement
(b) Self-Respect Movemaongt
(© Shuddhi Movement

@ Sathya Shodhak Samaj Movement

(a) (b) (c) (d)

A 2 1 4 .3
| 1 4 9 3
) 2
D) 1 2 q 4
owWn

Epssem_subenpt Qurmsss :

(a) ﬂl}mmn‘d}mngﬁnﬁ @wssid
(b) swwflurens Gussin

(€) ewesd Bwssib

(d)  ssw Gengnd swng Gubsb

@ B @ @

(A) 2 1 4 3
(B) 1 4 2 3
(2 o 4 1
D) 1 2 3 4

()] aflanl_ GanlieHeenen

23

&

2.
d.
4,

N

N i, T AR

Jyothi Rao Phule

E.V. Ramasamy
Dayananda Saraswathi
Sri Sahu Maharaj

.82
H
Gegrdlgren LGa et
/. Ele. ymosmdl

punenps sysbeid
W #n e

cCSE2T/Z024
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[ vl' -
30.  Arrange the following events in chronological order about E.V.R
(1) He became the President of Justice Party

(2) He joined Congress )
(3) He beeame Prosident of Tamil Nadu Congress Committee

(4) He organised Vaikom Satyagraha

() (2, (0. (), (1) (B) (@, (1), 3), (2
Ing} Sl s ) D) (3), 1), @), @

) Answer not known
LD,
re.Gleu.gm. uhf sre suflensliuig. Deraumb [Papa)seneT GprusennEsal

(1) mieult §84 s Hullen sensoeul By

(2) meunr srmuElrebic Grmbsmt
{3} = G T ﬁlﬂ@pn@ s mrislire ELﬂI'_u‘_uEﬂi;l-T ﬁmmmﬂ' < GOT T

(4) eoaussb sgBurdysh geusd et

(A (2), (1), (3), (1) (B) (4), (1), (3), (2)
(C) (2), (3), (4), (1) (D) (3), (1), (4, (2)
(E) cflan Qsfluwiehdana

“aanalum Selvamum Mannarasum Yaan Venden”

1.
[I don't want rule the sky, wealth and monarch]

Who said these words? _

(A) Ramalinga Adigalar (B) Sundarar
(C) Nammalvar (D) Kulasekharar l

(E) Answer not known

“eumerrigmb Gaseuptb LoGTERTTELD wrenCGeauairCL el — eTeiy LimigLIGUA.

(A) @ymocdiis Sjgsarmi (B) smpgyir

(C) mibompeuri I (D) saCesy
(E) &llen Glaflwueildeane

CCSEZ2T/2024 24



4. Mateh correctly the Newspapers nssociated with ite Founders :
(2) Richard Johnston

1. Madras Courier
@) G.P. FPillai : 2. Madras Mail
() Charles Lawson and Henry Cornish 8. Madras Standard
(@ G.Subramania Iyer 4. The Hindu

(@ M (g (d)
EEEEE
@ 1 2 3
© 2 3 4
o) 3 2 1

(E) Answer not known

N R

Cagrppisiibpaia@s o Aam_ijm u Qeudssreer sfums QumESseyLh
ta] M&F=TE fomemsen
) G.P. Qérenar

1. wagre smflwiir

2. wsrreh Gwoulld

{c} gritevelo comaem wnhmich i WD En s e m{E
dametTl sHmivelein
(d) G. stimoesflul gpuwir 4. & ablipm
{8y . (el -id
I @ 1 3 2 4L|
(B) 1 2 3 4°

o 2 3 4
@ys N2 L. .4
{E'j sflen_ Qg flwcbldmen

-

ﬁ aE CCSE2ZT/2024
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“Number four

% and two are strengthening your words
Number ‘twe'

. refers to what?

(A Proverb (B) Thirukkural
() Naaladivar (D) Aathisood
(E) Answer not known

et @ran@d Qerogiiend’ eap upGomfds Grerl  EREEL

EDSSena 7
(&) LPQima (B) Smsmmer
(C) srewwm (D) ws55@4

(E) Lo @sfvdaae

34. According to Valluvar, which will be considered with ulmos

gratitude?
(A) As Bamboo as Benefit I (B) As Millet as Benefit I
(C) As Sea as Benefit (D) As Mount as Beneht

(E) Answer not known

SiGEnE ‘Usenuara] Fehliunss Qandreu” eren aueT@reur (SIS HE D
A) wuae siee pod [ ® som swmeses |
(C) sLa& =yavey perd (D) wener esiarey memnl

(E) dle Gsfludidoeana

35. *“Kallaarai Kaanungal Kalvi Nalga
Kasadarukku thookkumaram angae undaam”
Who wrote these lines?

I (A) Bharathidasan I fB)- Kannathasan

(C) Vannathasan (D) Vaanithasan
(E) Answer not known

‘Bharenrs srgmtiend seef HEVS T
BELTEGS g1éGLrD omGs o @ mh” —
Gsscllans aflsenée e Mueur wrds
I (A)  urydsrser I (B) seremgrsear

(L) mﬁhrmgrra'-ﬂr [‘D) mﬂmﬂﬁnaﬁr
(E) oo Qsfludiome




e Pakistan resolutj
” Th : 10N was passed by the All India Muglim 1 League

at its Lahore Session on
(N March 5%, 1035

(B) August 5 1933

(C) March 23+ 194

(D) March 22nd 1944

(E) Answer not known

!

& Bdlu - :
=ifle  @pSu pevelid o8  Lindsusmer Shonenpens @msal  OTET i

eUEUT(pE BlenmGeauhh I 7

(A) wris 5, 1933

(BY amev 5, 1933

(G) orié 23, 1940- |

D)  wrre 22, 1941

(E) eflen. Gaflushidens

B . 97 CCSE2T/2024
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A &> =3 O e—a A
B{—a V2 Ty &b S
= 3 T
37. If ABCDE = P1Q2R384T6 then which on¢ of the
to QZBFVTA.

(A) BQ2VTGP1 G6EP1
(C) BQ2V7EP1 BRzUGGP1 I

(E) Answer not known

following 18 equal

2
ABCDE = P1Q2R354T5 erer B (mb@Te ﬂmm@wmsummjm Q2BFVTA

erefTUSDE FDWwmerg] el 7

(A) BQ2V7GP1 gU6EP1
(C) BQ2VT7EP1 @) BQ2U6GFL I

(E) eflen Ggfuwreilena

ad been sold for Rs. 1,200

- 38, Gopi sold a laptop at 12% gain. If it h .
Find the cost price of the

more, the gain would have been 20%.

laptop. 'G)S,J( ,I:m::n_ - = o

W?R—E 15,["][} I Y a L }i‘".ﬂ'-_ﬂ Thoen -+ oo
) Rs. 16,000

£ ._.ﬂﬂx.apgmg pESy - e - 2ooe

{G} Rs. 14,000 g Tkt

(D) Rs. 15,500 dow = |2 % }12ed e (ak PR
(E) Answer not known i 'f’ He — looRP

m = 2 o o “_.—‘:].
- ™ =y l'ﬁﬂi:rﬂ

Csm9 em ussaflaflew 12% @mnﬁgﬂm@ elppmr. Guanb SIePg

m. 1,200-65 s:psons cpfmpsrd @omun 20% s Hmlh
wig ssomflafluish o &5 aflenaeniLid &MaTs. = BobGEG

| (A) . 15,000 |
(B) . 16,000
(C) . 14,000
D) " ew. 15,500
(E) &fen Gsflwehldbana

CSE2T/2024 28 B



what is 20% of 30% in 500? ——j‘l] 7 3 Ly T

39, Itfﬂ/ /30 ] (B) 150 - s

©) 75 (I 100

(E) Answer not known

ar 30% wdoGd 209, STEheE 3
I ) 30 I (B) 150

© (D) 100
(E) chlenL Glafwed dieng

F s
. Find the missing number in the series. e 135; = 2
) 4,18, 72, 100, 180, 294 445 i
[ 2 48 ® 50 7= WA =bu-)6=43
(C) 58 . M 60 oo = BE-K* =

(E) - Answer not known
GlempissiL G.‘E“Lﬂﬁﬂuﬁggj HRUC L eramenenrd @iraeres,

4,18, ?, 100, 180, 2
]m} 48 I (B) 50

©) 58 . (D) 60
(E) eflen Qefliueiidamea

41. The sum of first n natural numbers is 253, then find the value of n.

I (A) 22 I B 18 Ho 4. . 4-nm=2w23
© 24 (D) 16 Bled) o
(E) Answer not known P

P en= Hbsb

PESD N @wd aansaien mBisd 263 aafld, n-@er iy sreims,

[ar7z2 i ® 18 n™4n- ot <.
(C) 24 (D) 16 AT (n-22) [nt29=0
(B} eflen Qsflwsidena - -‘5“l“< 2 %

e B
Me T2 o i

\ A

) 29 ' : CCOSE2T/2024
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42. If fox=cat then xerox may be equal to
(A)  terct 9 —t b
(B) tcroa
(C) terot Mot
JJ(Dj“:}tm‘nt. I
(E) Answer not known
fox=cat erafldy Xerox ereLg agenar GHlGEWL?
(A) terct
(B) tcroa
(C) terot
| (B) terat |

(E) eflenr @sfucidena
ogelting same

Three dice thrown at once. Find the probability of
C3e) ranbor & PosENG = 67

43,
numbers in all dice
1 M s Cerasy
(B)
216 sl

1
(A) B
T :
= =y '(D} R i [}11.1}1{1-11":11
Waa I 2 ‘! ..-.@.mgg

(E) Answer not known
LIBEnL_SET GelIITE e.qf,n_r_uu@mf;urrg sieansg LsaLulgid Cr

epel
craf dHenL s Flapsaa ereme?

1

= Bi ——
@ 2 (B) 215

1

2 )
‘fﬂ} 36 | ( ) 2

(E) eflen_ Bsflwabldena
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43.

The curved surface areq of o right circular eylinde

g6 em? Find the diamoter of the eylinder, rof huight 7om s

A) Zem CSA = & edie - 2.6

(B) 4 em sl = &6 5 .

o). pom DR A N wi = [ chiaseader = 3
[y om | Z e - zon
‘E’E) ‘Answer not known, e

Gl sueneruim’
E_E@:nanﬁ'lm EE'Il'_q_._r‘éuﬁLj,E;'“ @ Grieu L 2 memarudlen 2_wmb T Q&8 erafld,

5,
(A) 2 Qsub
(B) 4 Q&8
(C) © Gl&b

I® 3@s.s5 |

(E) chlent B fwueldeng

The value of a motor cycle 2 years ago was Rs. 80,000. Tt depreciates

at the rate of 4% p.a. in first year. In second year it increases by
4% p.a. Find the present value. 5 ;

{P-'t} Rs. 76,800 Vol .. = “F-E - Bbooao
(B) Rs. 80,000 . ﬁm-cr_\r | e —3 v -nlupmd‘ngﬂ
- HRs. 80,12

ey . T Y. 2 s Becss

Rs. 79,872

Answer not known M= H#'h" heo o= oy 4 ﬂ(ﬁrb‘f'ﬁ s

Bl s&sr eursenh genbler sllene Blrem( embsenss apar . 80,000,

(PSH e HLemn b 4% Geopndps. @rerimd san®E 4% sfsfsdng
erailel e SHEUMenGIL ehlenad ereme?

(A) em. 76,800 ;-;ﬁ x 38 Sultep
(B) . 80,000 72 eyl
(C) @. 80,128 =~ FIBRL

I Ej . 79,872

(E) oflen Gufluahidena

[Turn over



T .
fhiwve are four cell phones in a house. At 5 a.m, all the four phong,

\"L'i.” |-i'|'”-_[ t'”ﬂ'uthﬂ]‘. T]ll:‘.‘l‘ﬁﬂft-ﬂl‘. the first one ringﬂ.c\'Et‘_}’ 20 ﬂ::;ﬂ-, thu
soeond one rings every 30 mins, the third one rings every Ming

and the fourth one rings every 50 mins. At what time, will the fouy
cell phones ring together again?

(A} 1P.M. Jom g 2p ko ) BO T8

(B) 1AM. = fooweahslo hee -
!fﬂ@’gPﬁi . k B ol e s pronat tﬂ;r
i Wil . %
(E) Answer not kno i e ;:il' 5% A

ﬁmﬁ:ﬁfggng%n?iﬁiﬁf ﬂ;am enarGuFmrengl E#tfﬂﬁmm
20 fullraefigyd, Grem resg sanaEL geu@aungs 30 BB Eﬂih.
apenpreus s@aGudl gautairg 40 Hfl wseflgb, prenETaisl .gm::_:m L1
sdaQang 50 il tisefignb gelsdsrnenr eraflcd, meneu Sadmpib erGUrgy

PETDTE spelldicHLb ?
(A) YGHusd 1 wenf
(B) apbuss 1 wenfl
[© @iso 3 wan ]
(D) appusea 3 weaef
(E) eflen Glsfluieilena

__.'a.pj 2T e, S T =

47. IfHCF of x° —8%" and «® — *y* is x +ky then value of k
(A) 2or-2 (B) +2°

Yo k2 | ®) 0
(E) Answer not known

9 - 8y° wimd x° —k%y* ar BUClum Qung eusss x +hy eefle ke

iy
A) 2 goag -2 (B) +2
) -2 | D) 0

(E) @m Asfusioma a8y 'r""—t.L:f‘:(maj )[Hl _;_1,3,}1{)
2K = wey - f’“":r)r"”idﬁ

CSE2T/2024



48.

49.

50.

|

In how many months the principal of Re. 2,000 will double at 8% per

annum in simple interest? _
{;}unn LT = Jaemm |
(A) 144 months I _‘Aﬂrﬂu montha vt
(C) 120 months () 140 months e
7y Answer not known e
(E) — et

safl ey gpah ysed g 2,000, B% sulneipdfer BT luns eeususme

™ | 2 B

onSD FheSHib ?

(A) 144 wngiisen | & 150 wrgmsar | y

(C) 120 womgniiser (D) 140 wrgriimar 1225 ya

(E) mﬂﬁfu_ Qaflwelldencs b ﬁ:" 5 -""%‘i.
= )" D meshy

The L.C.M. of 3, 2.7 and 0.09 is

W Y Sa——
L “ l.":..rﬂrpﬁv 2c0 , 20,9

(E) Answer not known

3, 2.7 whmb 0.09 er 15.8.1w s =2 J oo
{.A} 211" ‘B:I G'ET a 3-1.15'1'-'1'
(C) 0.027 D) 27 i =M g
(E) efen Qeflwsilcane = 2TgE
_ ; tehsh
Which one of the following lies between /7 and 452 5 ),
by - 5 - 75 A e lane D,
i1
(C) 2 D) /5 "'{F: r-;"!T: y‘é':[\i-*-w‘)?'
(E) Answer not known :
Epgsnramusupblea g V7 wppib 156 @apdipe Ga G "ﬂf“‘m“"b'_‘li A
\ 2 | B) 3 k J5 - 1=Lf%
© i @) 5 i - (68)"™
- : Y
E) &6l Gz flweh I
(E) enl- Lgmuenlcvana) | A E’—_ EU,_= { BEJ“}E. : qu_q)
CCSE2T/2024
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Bl. Arrange the following Books of Jawaharlal Neh

m"dﬂr GO Sidﬂl‘ing ﬂ}ﬂir yﬂur .ﬂf put}]iﬂﬂt‘lﬂn-

(1)
(2)
(3)
(@
A)

An Autobiography : Toward Freedom
Glimpses of world History

The Digcovery of India

Before Freedom

(4), (3), (2), (1)

| ®

(2), (1), (3), (4) I

(C)
(D)
(E)

(2), (3), (1), (1)
(2), (4), (3), (1)

Answer not known

malaniamd  GCumellar  Erébmenar  Senal
iy Dinent ufleh smerel flensliLiBiggs

(1)
(2

(3) -

(4)
(A)

it swsilens : sabirn Crrbsl
B & euFaNm @f Lnfane
(L e G AN
a5HHTSSDEG qpe

(), (3, @, (1)

|®

@), (1), (3), (4) |

(€
(D)
(E)

(2), (3), (4), (1)
(2). (4), (3), (1)
eflent. Gipfwiel deme |

CCSE2T/2024 34
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T — i X 8

s2. Who among the following had started ‘Mitra Mela’ Association?
(A) Shyamji Krishna Varma

I (B) Vinayak Damodar Savarkar I
(C) Lala Hardayal
(D) Sohan Singh Baknga
(E) Answer not known

deraumaarapfa Wsmm Coar shssms QpmiBuai wri?
(A) siswmbgll Himeivenr cumor
I{{E} ciiprus srlwrst sreuirksi I
(C) arenr amirswimer
(D) Geraper A Lsenm
(E) sflen Qsfweidena

53. Who founded the All-India Muslim !..Etﬂ_gue in 19067
(A) Muhammad Ali Jinnah
[B) Knhwaja Salimullah |
(C)  Sir Aga Khan
(D) A.K. Faizul Haq
(E) ' Answer not known

' qﬂ%ﬂﬁﬂﬁ.ﬁjﬁﬂlﬂ Gpa‘u:ﬁ;m s s feow 1906-a Fmedluig wmirs
(A) qpswgs ed garanT :
I{E} Seumgn seblapdan I
(C) of aps s
(D) o.Cs. eusd ané
(B) oflen Gsflusiiana

ol CCSE2T/Z024
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6d. Assertion [.Iﬁl.] . Swami '\.'Fi\rl'.!kl'-'lnF]ﬁdﬂ founded Rﬂ‘.mﬂkﬁﬂ-hnﬂ

Mission to popularise the teachings of his master,

Reason |R] . Ramakrishna Mission was a monastic order ang
devoted itself to the spiritual development of Man,
I (A) [A] 1s true, [R] is false I
(B) Both [A] and [R] are true and [R] is the correct explanation
of [A]

(C) [A] is false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) Answer not known

sapmi [Al : seumdl cllCsusnanhsi seng (Geellenr GunsenanSend
Lirtiu @rmodlimeisarm wWlapenan Hlimelemmi. '

sryennd [R] @pmodlmesanm legen @5 SOEUD ennliL| WHIND S
weflgaflan aamiis aiarisflsag saraer o roiLenflEEg -

I A) [A] s, [R] geu _ !
(B [A] comb [R] &M, (R AT smune edlarésn

(C)  [A] saup. [R] &f

(D . [A] wpmn [R] oM wyermd [R], [Alflgyen i sfliurer sflarsswden

(E) sflenL. Daflucidsna
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b

E. Arrange the following studies of Poverty in Indin in chronological

order :

(1) Ojha’s study

(2) Bardhan’s study

(3 Minhas study

(4) Dandekar and Rath study
(A) (2), (1), (1), 3)

® O, @ |

(C) (3), (2), (1), (4)

D) @, M, @), (4

(E) Amnswer not known

ﬁljﬁﬁﬂjl‘rﬁﬂﬂ sumenin . ubflu lﬁ'lﬁ‘l.'rmm’,j_h <, L 15 [ G EIT
GRLpRISENDESELD

(1) g miey

(2) uhsmen suhey

(3) lemamrey iy

(4) gamGLST LpgIb T15 eyiiey
(A) (2), (4@, (1), 3)

® ), @, (), @ |

© ©,.®.0 @

b @, @, @

(E) sflen. Qaflwebidma

a7

smae flensiig

CCSE2T/2024
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56 tal tachnulugieﬂ

Inorder to double the Farmer's income thr ough digl
action should be taken from

Pom— icies and refl
@ TEﬂhuﬂ]ﬂE}” generation and dissemination, policies 0Ty

and development initiatives
(ii) Policies and Reforms
(iii) Reforms and Development

(iv) Artificial Intelligence

(A) (i) only (B) (i) and (iv)
(©) (i) and (iii) (D) (iv) only
(E) Answer not known

el e Qsmyflepr ukissr ppah sileusmlsefldar aimoraans @M (urss
THEs Ceuamyll Bl dens

() Gsgrfeomcy e @amssd wHpb  ugeud, Qsrdrensser  HmD
Erfl s shiser whmb cueriéS ewsfsdr

(i) Gardrenasiayn, FidmssLsEnh
(1ii) fﬁ‘ﬁ[{ﬁﬁﬁifﬂl.&@ﬁ. apenGarhpapib

(iv) Qewhens miemamdlayib

A) (@) o B) () wop @) ,
(C) (i) LoD DD (iii) : (D) @Gv) i Gub

(E) efilen E'.g;iﬂu_rﬁaﬂsi}mm
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o pMatch the following :

(a) Tax Revenue 1. Interest receipts

(b) Non-tax revenue 2. Net market borrowings

(¢) Capital receipts 3. Taxes on Income and Expenditure

@ B (©
{A] 3 1

2
] o
(C) 2 1 3
D) 3 2 1
(E) Answer not known

lemeureuensubenm Gummiss

(a) eufl sugmeumi l. aulig rég #
(b) «ufl sidbens eumeumis 2. Blsy sphengs sLensedr
(¢) cpager gFxmaer d.  eumurer whph Qe Bsmer auflser
(a) (b} (c)
(A) 3 1 2 I
= o

() 2 1 3
M) 3 2 1~
(E) eflen Qaflwiafsens

_ B : 20 G.ﬂSEﬂTﬂﬂﬂﬂd
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Name of the Act
Prevention of Insults to National

||

Honour Act
Representation of People Act

Covernment of Union Territory Act
Government of National Capital
Territory of Delhi Act

#1 gder Quuiir
Brger Gumann HanSss0uBauanss
Sen_ Gsiub &1 tih
&sdr Gpdlildssies F b
Bpdw genflul ueds s b
GCaflug semapst bdel el LigSlE

FUL_Lh

68. Match the following -
Enacted Year
(a) 1963 1.
(b) 1991 2.
(©) 1971 3.
(d) 1951 4,
(@) () (
Il{;;. 3 4 1 2|
T 1 2 ! 4
(C) 4 3 2 1
D) 2 1 4 3
(E) Answer not known
Epssem_aupenpl Qurmsigs -
@ummuuLL -&Lﬂ‘m‘@
(a) 1963 I
(b) 1991 2.
(c) 1971 3.
(d) 1951 4.
@ (® (g ﬁD_I
A 8 4 1 #
1 2 3 4
(C) 4 3 2 1
D) 2 1 4 3
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59. Assertion [A] : Governor in the Indian Federal System  is

assigned dual role, as the constitutional Head of

the Btate as well az the representative of the
Centre,

Reason [R] The Office of Governor is against the Federal
structure,

(A) [A] is true, but [R] is false | I

()

Both TAT and [R] are true, and [R] is the correct explanation
of [A]

(C)  [A] is false, [R] is true
(D)

Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) Answer not known

C
" sapm [Al @pAu s rAlld, syemnt, sgfen geesut nppb
g yrflen Godfd edrgun Em Aswoner Leflaamer
GEL S mim.
aryernd [R] ff el

auatGL sl i Sl aT &l ey
(A) smpm [A] &0, mermd srgamd [R] seum
(5]

M (24 LpmD Snjewrd [R] &0, Gogid ampg [Alssrer  sflumer
shlenssons sryemb [R] e drens

(C) smpm [A] peug, sopeon [R] &0

MDY spm [A] wimd srremns [R] @rar@in &f, syenma sfpm [A]ssmar

sflwren efleréswrs srpamd [R] Gldena

(E)  eflem @ miflweficbenen

' gE2T/2024
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G0.  The framers of the Constitution ineorporated the duties of the Stat,,
in the constitution in the form of the
(A) Fundamental Duties

| (B) TFundamental Rights

I (C) Directive principle of state policy I

(D) Rights of Citizen

(E) Answer not known

Srfluaeotey o yrarkdusiisd S SLaNDEETTS rFiuaenoiGleda

Eibs -Eulq.ﬂ:lﬁ.ﬂm G&ﬁg,'ﬁ.mfr.-

(A) Sigliueme SLsninsdr

(B) s ouee o flenwmer

(C)  pdlen sufimn [Hib GEflopenneser I

(D) wuvssErssnar e famsdr

(E) eflen Qaflweildena
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which of the following hodies daesn’t/don’

a1, : : STATE T '
ol Comstitution? nention in the

(1) National Development Couneil
(2 NITT Aavop
i Eleetion Commission

(1) Finance Commission

Ii‘: (1) and (2) only I (1) (2)only
(C)

(1) and (4) only (MY (1), (2) and (3) only
(E)  Answer not known

Spasin  senwlisetld
mra LU eS s e e 7

sremeufeTencuset  cpflumemoings sl dfld
(1) Gsélw eueniddld @y
@  H8 wCuns
(3) Cmirmad o eoemmub
(4) B penamrib
FA Ouppe@oee ] ®) @ wvcee

(C) (1) whmbd (4) oo Gd (D) (1), (2) wpgub (3) wBb
(E) oflen QaMuichidana

2. Who among the following is the only woman historian to have
written a historical account of Mughal period?

I (A) Gulbadan Begum I (B} Zeenat-un-Nisa Begum
(C) Jahanara Begum (D} Zeb-un-Nigsa Begum
(E) Answer not known

Aenaymueinsgndr pewmnuiseflsn sregdd B euTeThm  Hlepasaer
erupdlu G Gl suranbm —wAfwr wri?

I (A) @ouger Gusbd I (B) slenmg-e en-fler Gust
(C) mmamngr GuaLD (D) Qgui-a sn-fler Guabd
(E)  eflen Gaflwshldena
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63. Which one of the following is false with regard to the reign of

Ahmad Shah?

I (A) He transferred his capital from Gulbarga to Bidar (142
The rivalary between ;M’ ] arty

(B)
became aceentuated during his period

(C) He conquered Warrangal in 1424-25
(D) He annexed the kingdom of Gujarat to hig Empire
(E) Answer not known

- fuSer ECwp @l subdld ergl Geummengl 7

(A) senewmsenr @eLirammailedlmbs % Lo il e (1425)

(B) wmeuic arwshd Lsdean @upelip@d  Ceusipr(Bis (e S
Eenulemar Gongd Lh Gustiul{f aubEsl

(C) 1424-25ih ysingd cumgrise aemD b slILHDOUC LSl
(D) HmUTs Sgens He Guaum_;eﬁ'r @ enanrEg& Glamammi
(E) aflen GAgflwsildana

64. Who called India as “Ethnological Museum™?

(A) R.C.Majumdar | (B) R.K. Mookerji |
(C) H. Risley (D) V.A.Smith

(E) Answer not known

- @rdur g ‘walls GoHer SiBEET_ALED’ erar SianphEeT WiT?

(A) i 8. ggebgmi I (B) =i.Cs. psigdl I _
(C) Qapé. Mavad (D) ofl.a. avidls

(E) sflen_ Gaflwefleemea
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Which of the following Harappan sites are net in India?

If A) Mohenjodara and Harappa I (B) Lothal and Kalibangan

(©) Ehanwaii and Ropar

(D) Surkotada and Dholavira

(E) Answer not known

gpasemaubpidt @bs apriun prafss geviisdr FHELIWE BEHundid

(A) RinrsEsEsnern oppib anquur | (B) Carssd whpnb srdlutkses

?mm—m?
(C) LSRR U I (D) salamrin whpb Gereomeym

(B) gilen EEMuehdenan

66. Around 25 districts in the east coast; 10 in Tamil Nadu,
" = in Andhra Pradesh, 6 in Odisha and 2 in West Bengal - are
yulnerable to cyclonic storms. Among these, which area accounts to

70 percent of the cyclones of severe categories?

| @®

Chilika region

®)
(©)
8
(E)

Nellore region

Machillipatinam

Sundarbans Area
Answer not known

._:Elgé.@ds. sL_hsenmuiia sont 25 wralhisd; gulpemiigd 10, syEAgreila T,
guoreila B, whpd Gope alsid 2 - @mprawell Lwidmearre
undEsriu kg wene. Gebfles, erHsO vEBureng  shienwrer sl
yuasaia T0 ssdls undleu Sen b ?

[ @ adarues ol
(B) Qpaogntoed
(CY  wsfellid yamb
M) spsraetives
(E) eflen Gsflustiaeme
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67. A tribe of India is

Connected with Eklavya in the epic Mahabharatha

(1)
(2) Livesin Aravallis, Vindhyan and Satpura Ranges
(3) Hutment on a small Hillock
(4) Maize is their staple food
Which tribal group of the following suits for the above conditions?
(A) Gonds :
(2]
| (C) Bhils
(D) Santhals
(1) ﬁ;nswer not known

Sipkargmih snbmisEhsES o ‘@m@mﬁaﬂm (s LIy uilend erg 7

(1) warums @Hsns sgruursHnd gamaa @it er @i ani e &

gpreueell, siBHw HHID LT Wened @am_faafla sumpuielTaen

(2)

(3) AL @epmad @i 08 HEOEHE
(4)  wasrs ComerGw KGygner e el
(A) Cemebrsst

(B) Gam_ s

(C)] Heaew = |.

(D) srbsdmer

(E) oflen Qzfweildens

46
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orther
G8. The n ern uplond of Lhe Karimitaka Plateny is known as

l (A) Malnad
(B) DBetwa
(&) Dhasan
(D) Maidan
(E) Answer not known

LS S
I (A} wroEnE I

(B) Quieum -

(C) pneen

(D)  empLmen
(E) &flen Glefluehdeman

Wl AT

9. - Which Ministry launched the Digital Intellipence Platform (DIP)

and ‘Chakshu’ facility on Sanchar Saathi portal?
(A) Ministry of Power
(B) Ministry of Civil Aviation
I (C) Ministry of Communications and Information I
(D) Ministry of Earth Sciences
(E) Answer not known

aThaE siennFesh sgremt srgdl GumilL ld el L6 mememiiay memb wibpb

‘wrdas’ disdeny Ggmiduig ?
(A) Hér sanwissd
(B) Aeflé Sorer Curs@Gaurssl senokssb
I (C) smeud GEmiiny enpdssd l
(D) et enBefiwch Siendsmd
(E) eAer Gsfliushicaens

024
B A7 ccsE2T”
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70,

Mateh the following :

Part I Part I1
(n) India 1. Bald Eagle
(b) dJdapan 9. Dolphin
(c) United States 3. Peony
(d) China 4. Cherry blossom
5. Royal Bengal Tiger
Codes :
@ @O @© @
(A) & 2 3 4
I—-@-ﬂ 1 4 5
(Cy 2 4 1 '3 I
(D) 5 3 1 2
(E) Answer not known
Weneupeuareupany QUTHSEEIS :
uEd 1 Lgd 11
{E] @ﬁ_ﬂlﬂﬂ' 14 AULpENS (DG
(b) ggrumer 2. Lrébel '
(€) =GQuwissr 3 GCwmed
(d) e 4. Qstfl wavied
5. s cukisiLel
GRS HEET |
@ ®m © @
*(A) 5 2 3 4
(B2 1 4 '
(C) 2 4 1 9 I
W) o 3 T =z
(E) eflen Gsflweflceney
48
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7l. who had been given the “Shilp Awnrds" by the Ministry of Textiles
and Industry?

(A to legendary drama artists
(B) to rural wonien entrepreneurs
() to legendary farmers

I (D) tolegendary crafts person I

(E) Answer not known
Ema‘ﬂ il g Wgﬂﬁﬂﬁiﬁm M SIS ST ED o ellimmiser  wWrnes,
QULPTEI LI uhHE D 7
(A)  YSREUDD HTLss SamaETSEnHS
B) Agrooyp Ques QAgmflowpeaaGar
(C) yswpblupp sbleusmubisdr
I{D} yspblupm ensailenans senadgisdr I
(E) eflen Qsflwehldena -

79 Some parts of the moon never see sunlight. Because the axis of the
- to the direction of the Sun’s light.

moon is

I{A} Perpendicular (B) Parallel -
(C) Same - (D) Opposite

(E) Answer not known

flaeler Sl ugdsar eUGEUIZID @il geaflflenens LnissCguidene. e

crempirdd  Hloalflsn  EE @i geflfldr  Slamsbs -
EmiiLgne.
Ffi’k) QetiEssrs I | (B) Bevemwns
(C) swwrs (D) erdgrs
(E) eflen @aflweiidana
cCSEZTIZ024
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73. Mateh the following :

(@) CO2 1.  Ground water pollution and
particulate in air

(b) NO, 2, Global warming

() Lead (Pb) 3. Acid rain

(d) Hydrocarbons (HC) 4. An ingredient for the formation of
photochemical smog

(@ () @ (d
I (A) 2 3 1 4
(B) 2 1 4 3
4
1

C) 3 2 T
(D) 2 4 3

(E) Answer not known

. Slelnen e e henm Curmsms .

(a) CO: , : © 1. flegsg B wrsarE oD snpblen
' £ GTaT SSETR(E Tk

(b) NOx 2. yel GaudiwnrgD

(¢) anfuwn (Pb) 3. aifle wenyp

(d) mguLEE?;naam‘ruﬁf (HC) 4. qaf GadluGwen yensual
2 (eumgGHaushare (b ey G maT
@ ® @ @

[z 3 1
(B) 2 1 4
(C) 3 2 1
m 2 4 3
(E) eflemi— G gMwelleena

- o e

50
CCSE2T/2024



75.

7.

i S R .|-.L.:"a_-__.._|'l-'_' .- ] _..I!"__-:-."-."‘i-.Fﬂﬂ?ﬂ“if.F ﬂj?ﬂh e

_Assertion [A] : 2.4 .71ig used ng herbicides.
Reason [R] : 2.4 - D induces Production _of  [fruits without
ferrtirrrion:
Im} [A] :15 true, [R] is the correct ExXplanati
(Bl BOHU Al and [R] are true
(C) [Alis false, [R] is true
(D) [Al1s true, [R] is not the correct explanation
(E) Answer not known
sdp [A] 2-4.7 menan &l mraiell s Gsuéﬂu{ﬂéﬂmg
siyeasiih [R] : 2-4.7 S(HEYDIMDe sef FulITéh a:rrl]'mTLDrr-ﬂjIIQjL
A} Al #lwnengy, [R] sflwmrer eflands b
1 #ﬂmnm@ '
(C) [A] seupreng, [R) aifliineng
D) [A] #Mwneng [R] sfiwmen alenésfldana
(B} eflen GQaMwishidenc

Objectivity, Predictability and Generality are the features of

(A)  Scientific method _I

(B)  =cientific enquiry
() Seientific attitude
(D) Scientific experiment
(E) Answer not known

UpsuwoulL genenn,  opeismeniiliygsenentn

o hmn  Gurgenngsares
pdhuena

Wler bt sarTs =SHeninding).
&) afldud weap

(B) aufeflud efaryenem
0) sifeflud waniurdrms
(D) oflefud uRGsrganan
(E)  eflen Qafluelaama

a1 CCSE2T/2024
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Identily the correct expansionfmenning of “CEDAW"

T0.
(AY Convention of the CXpansion and development of ﬁ[lt;]n,:g;_runl

Women

1 : R L
Convention on the elimination of all forms of diﬁﬂrimgnnti”nl

agninst women
Congregation of the eradication Of A1 0TS O QIseriminatioy,
against women

(E) Answer not known
Seramaisapda “CEDAW" eenp  eifleundssden/@unmenar sfluing

CaiiQsHanayb.
(A}  aieri@erid Lli@mﬂﬂumﬁﬂﬂﬁﬂ apenGeammmn whmih ol fleurss LD

(B) Quensgnssner vaGan SEHSSHEUIGERSMET L APDLILE S50

U)

C) GQuensenssm afgren eagsg als LI LI Tk enenith ,ﬁé;@mg_:ﬁsnml
LGk

(D) Quersgnss adyrer mads oy unguriymeanyd gEltusDsTe
e

(E) eflenr Qaeflusldma

77. Which one of the following is a one-stop source for all the geospatial
data for the state of Tamil Nadu?

(A) Tamil Nadu Geographical Positioning Svyst
(B) Tamil Nadu Geographical Information System (TNGIS)

(C) Tamil Nadu Global Information System (TNGIS)
(D) Tamil Nadu Global Positioning System (TNGPS)
(E) Answer not known
s0Ppp® wrflasSostar smarss Leliug e 9 i
s el i el 55 L W sraisend@h Semeumeuameuh il
[_H} SUOIDETH Yeillfwed Haraiu@smd semniy
I (B) sllppn® yeflufuih sseudm iemwcy
(C) alper e asarmaiiv HEeUS) SjenniL
(D) sdpsr® e wsemrelu Blenelufissen S{snLnliL
(E) &fleor Qaflwelldienen
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The United Nation hyg declaved 1987 ns

(A)  International veny of Giwl et

"I-l'll.:].\.ll L
(B} International yeny of Shelter for the homeless I

maryear of Women
() International Year of Cleanliness
(E) Answer not known

T8

2E BEEW mol G senu <) 1l &l s
A) sreulss GlLighr GPHmsadr e

1957 - &
(

I (B] #meulss = sopaflin @mmnﬁmm@m@ 2 e@peiib quipmighh oy e (b I
(U) smell=5F waatindsme =2, ()

D) srauGss spssdpsnen oy
(E) &l Qaflwshidena

79. In which year Flipkart signed a memorandum of
with the Tamil Nadu MSME Trade and Investm

Bureau?

[ (& 2021 |
(B) 2018

(C) 2001

D) 2011

(E) Answer not known

understanding
ent Promotion

aig Sen@ deflusmml, sllpprd MSME arsssio whmith  apsaS B
sas@Geblly Lilpgenie) uamiwussg e guUBESSD emedunpsdl g7
(A) 2021

B) 2018
(©) 2001
D) 2011

(E) eflen @z flwehlds ena

ﬁ 53 CCSEZ2T/2024
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80. Match correctly the following foundations with their COFres),
ndiy,
L!.

names :

(2) South Indian Liberal Federation 1. A.Si ngarave]y
(1) Kudiyarasu Journal 2. C. Rajagopa] achap;
1
(c) Emergence of Labour Oragnisations 3. Thanthaj Periyay
(d) Swatantra Party ' 4, C. Natesan
@ M (o (d)
(A) 4 2 1 a
(B) 4 1 2 3
|l ©« s 1 1
(D) 3 4 1 2

(E) An_swer not known

WSlekrau b SGSEAREHET  mm CasTlfiyen iy GuwirsCGarr®  Ffwms
Gummas s '

(2) Qaarafltdu po o flonns shsb L A ArnermCGausr
(b) @ urs @op

(c) Gsmfemarn Slawlsaflen Cammhnin
(d) sspdir s '

(a) M (. (@
(LY e Wy

(B) 4 1 2

|T:}4 3 1

Dy 3 4 i
(E)  aflen QsMuaiidena

C. org@amuneomans]
sheng Quflumy
C. pGLsen

B

B BD J28 o
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al. According to 2011 census, Lthe density of nopul
is

(A) 450 per square kin

I (B) 555 per square km I
(C) 650 per square km
(D) 750 per square km
(B} Answer not known

ation in Tamil Nadu

2011 wésdr Gsrans Temr &l B ey
(A) 450 p@ @y 4.8

ITB} 555 @ #5ir 4.8 I
(C] G50 am szi7 4.5
(D) 750 g 25y £.8 W
(B) el Qsfluichidang

% SUDBET g er wdas Agrens =L )

82. Tamil women who were competent in literature, music and dramsa
were called as !

I (A)  Mudukkuravai I _
(B) Mudinmagalir |
(C) Viraliyar '
(1) Kanigaiyar
() Anewer not known

Sosfub, @ens, ENL_&ib Spdluanile Cared Clupn  sflihs  Guemsdr
— —— GIGHM BIENDESLIILIC L G,

| @ wssesea
(B)  apigennsafin
() effleliw i
(D) sefaswnr
(E) dfa Qsfusiivene

55 , CCSE2T/2024
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choose the right matehes nmong the following.

54.

(1) ThiruV.Ka —  Desabakthan

(2)  Subramania Bharathiyar ~  Hindu

(3)  Annie Besant —  New India

(1) Kasthuri Ranga Ayyangar ~ —  India

[ (1 and (3) only | (B) (1) and (4) only

(C) (1), (3) and (4) only (D) (2), (3) and (4) only
(E) Answer not known

Feeumib suansdg Gen Gui adluwman Gluimmdgn &eanar Cairey Gleliwayh.
(1) Hym.ehl.s — Ggsusgen

(2) sOmoesflu Lrmdlwr -  Ebas

(3) memafll@usem —  Hly, @sgwr

(4) scognfl grius epdwdErr — Esdur

[ Owps@uwegs |+ ® ) wsps @ wcpo
(@ (D). 3) whpgb (4) @k (D) (2), (3) wpmud (4) L Gd
() afen Qsfwelamea |
84. original name was Kumarasamy Nayalk.

(4) Kattabomman I (B) Oomaithurai I
(C) Dheeran Chinnamalai (D) Marudhu Pandiyar

(E) Answer not known '

et @whGuwi @ongsmdl pruss.

(A) -E-I;I_Gll..l_l'.ll.bl[rﬂT I (B) saenwdmeny I
(C) Ayt ST ET LD EN 6L I[D_} OS] LT i

(1) al_ Qaflwefldena
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86. According to Vg1

luvar, what is the weapon to destroy the arrogance
of foes?
I (A) Heroigm I (B) Force
© Fort (D) Wealth

(E) Answer not known

‘umsafldr s Se0g  uy b’ ATEEEUT  eTmenei
: L& g STEHT[T ST ST,
SHOIE B & v o TR

(A)  eSmb I
=TT
(E)  eflen_ Qaefuaidena

(B) ues
(D)) Gadosuh

86. ° that man desire it is plain whom others wealth
Delights not, feeling envious pain”.
Whom does Thiruvalluvar refers to in the given abave Thirukkural?
(/) Nor wealth nor virtue does t-hat man

I (B) Man of envious heart

(CY  Envy they have within
(D) Goodman-
(E) Answer not known

&k

Simen s
Euemmgl Squpdsm Limes.
eTem WiTenty ﬂ@mﬂf@gm# OIS G mr o .
(A)  symen syisib Gl mmmer |
I (B) el Qpessgsnes
-Si(pESTT & enL WIme
(D) Qecuchlwiren
(E) dflen Qafwelicbensy

B | ' 57 CCSE2T/2024
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What kind of Dhoti worn by maternal uncle while singing lullap,,
you identified?
(A)  Silk Dhota
(B) Sandal Dhoti
(C) Thuvai Dhoti
Yy Mallu Dhoti
(E) Answer not known
Erent @ uTLSld griwmoer s e Gauci aems T 7

87.

(A) wi® Geulig
(B) spsen Geuliy
I(C} gsieney Geul iy I

(D) iocbgy Geullig
(E) aflen Qsflwehldena

88. “Utruzhi uthaviyum uruporul koduthum” —
What field is eulogised in this Purananootru Paadal?

I{AJ Education (Kalvi) I
(B) Charity (Eegai)

(C) Integrity (Nermai)
(D) Truth (Unmai)

(E) Answer not known

“o pmidl = sefluyb 2 mEun@EET GsrEiSgIn" —
Gupsmgnib Lpprenrhoiium & g eTHer Fprienu eusiluymissfeTng 7

[ sees |
(B) rrenes |

(C) GCpienw

(D) =awawn

(E) shlenL @ sflwalldana
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89. Choose the San

90,

2 Bam period in which the poet Nakkirar was
considered the most predominant poet :

(a) First Sangam
(b)  Third Sangam,

() Second Sangam
(d) Fourth Sangam
(A)  (a) only

(C) (¢) and (d) only

(E) Answer not known

(B (b) only |
(D} (b) and (c) only

£Cyp G‘-‘Eﬂﬁéﬁuuﬂ_@ﬁrar sraffld mpafrr Bs apsfu L@euins erhss shis
sfasenss Cribsaunmas S(ESILGE Dt

(a) s smsgp

(b) fPEmDmD Frusin

(©)  @rearimb smsn

(d) srersmb s

A) (@) v | (B) (b) @ |

©) © opmys (d) vege (D) (b) Lpm» () we i

(E) e Gl flwefdana j

One side of a rectangular field is 15 m ﬁnd one of its diagonals is
17 m: Find the area of the field.

(A) 80 m?® (B) 100 m? A

(C) 110 m* I ' MEMH (P Tregems T
(E) Answer not known

B0 driaus agea }ﬂm&;ﬁs&r
gpanerell’ L1 17 8 erafles, Hleug

PH LES marey 15 (8 DD Simer g _
Slar Lrliuetenay smers,

Noo |
(A) 80 -_Eﬂ_. (B) 100 82 axea = Jxb
(C) 110 .82 I (D) 120 82 } Js #E
(E)  sfenr Qaflweiame = Jaem™
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91. If1, 2,2, 8,8, 3 are the faces of a die, 2 such dice are rolled. In how
many cases 2n die face is bigger than 1+ die.

Lagls  S.ge b 5 3=y 0123 o) idHD, O3

B) b5 D) Caia) (2,2) {2 1) [2.3) ,f:,g)
C) 8 (Ih;.f} (2y3) Caia) (2,3) (53) (33)
S (21) Cma) (32) (23D (3,3) L)
(E) Answer not known tgﬂ){3:2}— (323 C 23| 2,2) fg'f)

1, 2, 2, 8, 8, 3 dpsnfuysdr Garer_ @ usaLsdr e (prLLuED @urgog,
psd useLwar aps bAveu &L @ran raig usenculer s WHNY
=flsors @ mEs eumiOILS6T eTSEene?

3 T esn) (3,2) (35 (33D (23]
(B) 5 Al = 3
© 8 o Rt edesa, # =020, 0000
®) 11 (23)€2,2), (2:3),(23)
() efleo @pfuehidme G|,

bkﬁ.‘hh_i e = 2,

92. If Rs. 10,890 is divided among A aﬁd B groups in the ratio 4:5 then
the group B’s share is :

(A) ‘Rs. 1,210 AT R TP g L
(B) Rs. 4,840 & 15 mrn
(D) Rs. 5,445

(E) Answer not known — oK

. 10,800 g A wppow B aap @6 Gwisemss 4:5 arp HAEEAG
Gfsss Gan@ssrd B @uwelpE A d@d Garms e ?
(4) e 1,210
(B) €. 4,840
| © e 6050 I
M) e 5445
(E) eflenr Gaflwslliaena
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&3

I cat=abe & -—a;
dog=def o —
- tan
Then which enc of the following may be equal Lo s
(A) cha (B) cba
HnE ace
© =2 cbn
(E) Answer not known
cat=ahe _
duét def T S@ppned Ec.?a_ls ereingy  Heeuipeueaieubmiet  eTSemTeD
@fldsiu_eomb
cba - cha
Ay — ek
Sl ®)

chn chn ;
L \ ®) o \

(E) e Qpfwshdene

E&qg’i&maczav;fﬁ Q5P R
o i pIeE DT qUestion ma

What will come i H

Stion mark in the following sequence?
GDR BMP D45 2

NQ | ® g
(C) MKO (D) M4Q
(E) Answer not known iy 8
E&GBDM4NKH2AEZS‘U3F1JLDQEPR
e e GéEn vdars aimb ClEm_ir ergio
GDE BMP D45 ?

&) MNQ | (B) 4NQ

(Cy MEO (D) M4Q
(E) eflen_ Qsflwehildene i
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: ﬂ , S > & Lo
.l-"n:h'_l-r"l- !ﬁ“i-"-h l__j ﬁi‘_ 1 -hi-‘hj i _}_‘ IPT hetht r - i
o ] IT.-. i A = —i_ = "g -

h

95. 1‘5& can finich a job in 6 days wherens B finishes it in 12 days. The
time taken to complete the job working together 18 ?

(A) 6 days 74 days I: T4  leliay Jk-,*

(C) 8days (D) 3 days o

(E)  Answer not known Complals
..H_L ‘;ﬂfl’

A aaruait gm Camaemu 6 prisafignh B erauait 12 priseflgd gOu
aeflldy, @maumd eapnss Corbs <bs G TESDE B sefld

(P LI ?
(A) 6 priser (B) 4 priser I
(C) 8 priadr ) s

(E) o Qsfluciidma
|75 Sty bk = 2k 53¢ h
% Hi il (e = LRRIFE P‘(J‘*Ti‘n
96. A swimming bath is 24 m long and 15 m broad. When a number of
men dive into the bath, the height of water rises by 1 cm. If the

average volume of water displaced by each man be 0.1 m®, how

many men are there in the bath? s velitem e
(A) 32 |,H(E§t 36 = Bk 50 o
(C) 42 D) 46 = 2.4 Wl

| 'l"'CLn. "T—"L'E..b.‘:,g_d el hl

Han b et 3.6t Weder
gp Bose @eanb 24 B Herapd 15 B Lir msoapd Gerareg. @oloni.
cranaiemslarer myanEsT Sibss G GHEGHD Gurg, bflar ewyd
gus Ge.f e widlpg. @ e EpTEfLns QeuefGuibpid Bfler eierey 0.1 i

crafile s Boed Garsdld assemar H@T B_draTami ?

(E) Answer not known

(A) 32 (B) 36 F bakes .
4
(C) 42 (D) 46 .

(E) oflerr Qgfwiahledena

CCSE2T/2024 L



- by 4o

. ,.&f:#-ﬂ%ﬂ "ﬁ:’#__ e

e
g7. Find the simple interest on Rs. 68,000, at 16%% per annum for
9 months. =g
(A) Rs. 7,600 I (BY Rs. 8,500
(C) Rs. 6,500 (D) Rs. 5,500

(E) Answer not known

2 ety ldgd 162% aafld m. 68,0006@ gerug wreksEssE saf

ey eTebvan?

(A) . 7,500 | (B) 5. 8,500 I
© . 6,500 D) . 5,500
(B)  dflen Qsfluwehicvena

.u‘i ""“
; Do pé £:2: 3
98. If A:B:C=2:8:4then —:= .= e =
_3 B0 Alﬂequaltu ey o &
= R = il
(4) 8:9:10 ; B:16:24
= ~ B <9 s 24
I—»{C’j/'étﬂ:'zd I (D) 24:9:8 12 2 la
(E) Answer not known = B39 w3 4
A B C
A: B C=2:3: 4 wraflay —:—+— '
W E Tg Ty
(A) 8:9:1 (B) 8:16:24
| (@ 8:9:24 | (D) 24:9:8
(E) eflene Qaflwueiidana ' '
E’r - 63 CCSE2T/2024
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99, REﬂEhing Lthe ].J'I{?I{.Tl.‘! ol |'|“_'!ﬂ'|,i]‘||;{ 20 II'Iil.‘I_liI:lrFl hU_ﬁ}Tﬂ Hﬁ_ﬂ hrs Su“il
found himself thirty minutes carlier than the man who can,

40 minutes late. What was the schedule timL\z}f the meeting?

(A)  8.00 (B) 8.05™ 7T eMay  wre,

(©) 8.10 [ @820 [Flere al 5,

(E) Answer not known Sine T ofles boe B o Prndy kt}; l.
k

=) Trash e, -4 ®R-ao 4
s b geari@agheg 20 Hullob apenenGlo saflel eremiaif 8.50 wenfly
Qaepnit. SlE sl b ganGasheg 50 Flllb aperenCy aubg alLgng
o ewnifhEnt. g wellsit i HHDG 40 BuflLib STQFTOFIONG SUBETT el
salLib geuks @liss Enmb ereuen?

(A) 8.00 (B) 8.05
(Cy 8.10 | (D) 8.20 |
o
(E) <flen_ Qgflwishldena gn - g4 b = % b T = th—:.
A 'p RSl N, oA a2 e domes = Whetad,
100. A can do a certain job in 7% hours. B is 20% more efficient than 4.
How many hours does B alone take to do the same joh?
[ ' L =3 B -lnﬁ Luesly
(A) & hours (B) 55 hours |
' JG ‘:IIE.'I Pruhs Bl
I.‘.{Gﬂﬁ hours I (D) 6% hours ! »
(E) Answer not known o T 63,4; Joy cad h 2o

=& hue
‘B’ aerueui “A’ srérueueny aiL 20% siflsiors Gaana Ealdlprt. A e
GeueneeniLs T% werfl Copsda Geig qppsdont aafld, B wlfn 2bE
Caumamenu Qelig) (pigbs aTEHSmar wesfl Crrs er(HEsE Qamarauri?

(A) 5 wenfl Guyb (B) 5% wenfl Cpyw
I (C) 6 wenfl Comb | I (D) E%- wenfl GErb -
(E) eflen Qsflwelcbena |
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demnéser :101-200
Questions :101-200

LES-g — Aungis s6lD
Part-B — General Tamil

Gords wHlikluarser : 150
Total Marks: 150

P

101. CarsDened sam_fls.

102,

103,

104,

&0 ol e
@ pes” | (B) L
(C) mgssan (D)7 sl

(E) el GsMwslldbencn -

‘' eremgouh  GeuisQsmedellen  gamanin  GR(HENLD aftame  sm_Gb
ehlenempment ST(pSIS. .

(A) g sAGpeir I_@_UM
(C) wgtGumb (D)} LigiCudrs
(E) eflen Qaflweldena

sfwuren Quirgar smb @ETwss e Qomnfiaws Cais.
(A) Gz - Czlsad I (B)s b — qumein
(C) - gipd (D) mr - mmer
(E) aflen Glsflwehldena |
gQrupss em@undasiu sflurer QurEaer oflts dlolowus Csfe

e,
(a) eou 1. oanr
(b) G 2. Y
(©) eneu 3.  sjery
@ =z 4. @erano
(a) () () (d)
(A) 1 3 4 2
B) 3 4 1 2
€ 1 2 3 4
[« 3 2 1]

(E)  cleri Aamiehcieneo

- CCSE2T/2024
[Turn over



fsaL. Coria@h @l AsnB” @s0sm i ‘el aagnb gdles
105. "&w

. b lﬂﬂmgﬂmw | IMﬂ;nuﬂmﬂﬁ
5 it (D). spprop |

106. QurEASS : .
(a) e ppglalsl 1. Gseausnd gfiuyé sib
(b) eegrt @rmomdligb 2. sopad semeanieuait
(¢) uergs oUTUMD 3. Queé adebl
(d) werer 4. yppGpmi wEiHuLaar

@ b © @
A4 1 2 3 4
) 1 3 2 1
©«4_ 12 3]
M 3" 2 4 1

(E) e QpAluchicenea

107. sdly Pesdwgde ‘gaaml’ adargibd Quur @dayms@h Qurmhgb,

(A) Qpavancy (B) #mad
I_[E)' IngEny I (D) arelflo by gend

(E) e Qsfludldame

108. ifle sperd, ‘eumin ‘BF sligdlen’ ppaod Cuelsefld sipflwed
CuskaLng ady genr AEa0uc e Wi
(A) Qulwmi (B) w.Qun. Aeugsrand

I (C) Whznudtisamt., I (D) w. geurenggih
(E) deo agfiutame
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110. @ra@maran® sigsdr Qsmam

109. Sprivyrand Gaigew e s fapey
DS

(A) =ingd sndli B) e e

(O ewigé sws

(E) Qe Qﬁlﬂunﬁ'tm I ml Susanfib

cuens samenfl s,

wrd @smPascu@d Geduyer

(ﬁh) Gmn*mm}k I m}'ﬂﬁmﬁ
© By ®) ome
(E) dle Ozfludone
111, Qummsgs :
(a) eflaby 1. sps
b) gwe 2. Qpmiy
(¢) & 3. wramar
(d) =efig 4. sumemb
(&) wEuy 5. gariCsrd
(@ ®m ( (d (e
|{A} ‘4 5 8 gy 1
T 5
(C) 4 3 2 1 5
@ 211 5 4 3
(E) e Qafluchidama
@ dibpean QUSSHEHET ATDIEID.
(A) siss Gosdub (B) £8 Posdwub
I(G) uéf Gasdubd I D) fpBesdun

(E)- eflan Qpflwellibaa

67
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@i & syemwouy

113, wsfEe
{Aj GeumL
I'[E»"" rgﬁmwmﬂ yeflorism I

(C) s@elend smedlemusnl
(D) aeleamd cﬁmmﬁﬂﬂ :
(E) eSeor Qefwaiicdensy i !ﬁ‘

;;ﬂwnm&nﬂ

114. Gerdeler wmsmus samL s, g* &

‘Qaarawn

(A) QsmfipQuui
(B) EgeTLmb Gﬂ-‘.ﬁyﬂm

IC-] admary uaryiduuir I

(D) g@Cuuf
(EB) e Qpfwelidena

@ - ‘ﬂwlﬁ TanUg

(A)  @oens grérand e durmdr gfiss @ Galyd vl Gib amaig
(B) fggy prarany o Qur@ar Cud g Qalud LD aumuE

I () EmeTy. mreamis g, Qummer Cod ppenn Qeliuydradr m(ﬂd |
(D) Si@rag Quim gy, Cunmelld gm Qalnydr wi' Qb CIETEY
(E) de Qpfucivme
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—

115- ﬂwmﬂ‘! ﬁ!}.’ﬂ'ﬂrgd Gun@g; .

D e 1 oemsary.
Q‘ "“E"{!Fﬁﬁ-‘ ammuﬁg

(© af 3. Quibysd Qs

(d) agb 4. Quubapzs e.fy

A)+2 4 1 3

B 3 2 1 4

(C) 1 3 4 2

D) 1 4 2 3

{E]' ablenL Gpiﬂmﬂmm

117. sulips QerdwmmisHuleh o S50 AzmiLaui
(A) smaEGeud I (Bl GCaeuGpwis umeuranri I
(C) w.Qunré# (D) =.Gau.snm
(E) dfer deflueiidaa .

118. o Cau.sn. scutsd gerg ampies agarpenps dsrogns aupflu Blsp og?

(A) ghars (B) ®opsd
(C) =dsarp I (D), ctyemphs el e I

(E) cfen Qgflwchidena

119. sogy s8ps sc@anda afurs sdeay ‘ewisells QabGumy  erenm
Qu@Eenniu@ssuent.

(A) eu&u. wneflésanmh B) CsaCpwl uneuremi
(C) ior. @yrswnaflksenmit (D)r uffwnh FEneighiT I

(E) e Gsfludldma
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@ LpuGunger el Auuens smudu FHHID a7

(A) provguwn I \D) gpptlionhsugh I
(C) ard (D) LpGwmg
(E) efleo Q@flwichldeanay ﬁh |
N
121. Geuddn@e — Badsams (Hmly ﬂ!ﬁ.ﬂ;
(A) eyE@uuwir (B) sfleneng@snens
(C) GsmApGluwi I (D), vamysQsnans I

(E) eflen Qaflwafcoena

122. Afs@sn eremn mrellen <= A e

(A)  zafCwsrelwim
I (C) méarsamis I
(E)  aflenr QsMuielidsanas

(B) swbur
(D) GeraGsraigser

123. AmrdGunsd psha EUT(LOLD SenaiGuer wimi?
(&) phfaioen I (Bl @men I
() AL L 11 Eer - (D) &4 |
(E) e Gsfiusivene
124. ‘sienser’ ereltm Glerd Wimeniys @@uu.@n@m?
(A) e awma :
iy [ ® @moe |
&%

(E)  eflen Qsfwelcame
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o

25 ,ﬁlipdnﬂurrﬁui&, G-E‘”L-ﬁ,&n‘ﬁrrdrr il
&l
7.0 ——

I (C) amea 2 Quann I

(D) 2% 2 auenln
(E)  eflen Qafueddene;

126. lﬂﬂTﬂ.rﬁleb 2 Gy eninu et mu”@ﬁﬁwﬂm Guﬁlﬁmmﬁ G;ﬁlﬂﬂ-f Sl &.
eHuuTi enslyYerenar
(A) e@gub Gal snseui

(B) e@és sustiviusufen berenar

I{C}' wirr sTengé Glsmaramrgh Gs{ mCiveud I

(D) e@sm ewermiveafler Gerdemasd Caluaf

(E) eflen Qsfweflciane

127, 'sume Copg aumellggnen . aretaians aunsdlub aariang e,

(A)  eflinoenpaienen

l (B Speflaner I
(C) &etmailan ar

D) e erum’ Heflenen
(E) s Qzfwelldene
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I

].E'El-

Renaissance’
I (A) B Bomeur&si® I (B) wmspnd

(E) allenL Qﬁﬂuiﬁﬂdlﬂ':-m

e @enereniLs SeimLdis.
i (A) » seveller pmr e fEse - oy ymibg UMD

(B) =wuSyrasnakmLl Ll - e srenons @iHUL
(C) smandb -  Qoars @
(D) &0l Ffise - dlepis QaeilGumisad

(B)  eflen Qgflwetlcvene

@ shEuflepupps Azm ey CaEEasHES e (psIs.
(A) sLpsenla oty smiFssd pa Gundpg: waol LgSlsaida waa
uirsend fo ugdaaio epas Gamflann penClugfldamper.
(B) s_psenld ecius smifssd s Gupélng ; wea ugdlsaild wew
lisieryih il ugdlaaia e pas Gemflenb pew Gl dlsmen.
(C) supsenia =uy snissgd pa Cundpg; ool LESHEQ waawl
Llfsgnd flod ugdsala epa) bamfland padunddamen.
)" ELbaEmyula 2ULE  SMUFSSED pﬁmdzlugu.ﬂp}@: wapall  LEslsafld
anals Ldlisenh Hled ugdseila o pas Bamflanb pen Qupyfenan.
(E) efleni Glsfwucildana

131, seupren B)enemranis a;shn_ﬂﬁ.
(A)* apreafl - 2L am@
(C) pab — wane I
(E) eflenr. Qaflusiisenc

(B) uvérewsib — LML
() {aﬂiﬁ:‘&;m — ubhaer I
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B

@ CpbOmie ~ G500

(A) * Cger + unrﬁl@?i :
(C) Gpen + LOMTIE 5, e I &) o it I
€ Bl Asfudivmg l:ﬁ}h;:_.:;m + Ll f,:/‘
e K rt
| | ; &1’? w
grefenlch mﬁmmGUiTm Errg.]@;h .@m.'l'igurrmmsn ﬂh i &
£ @Tarie gj,éﬂﬁ'ﬁ'-g; ﬂ_ﬂtrr:'rmml_;r,@ ﬁunﬁjgﬂ | - |
- Guum_enamer GuiHua Pt oI
(A) ©sbeus fsst l (B) GeorssnBF 855" I
(C) umbLm gs Aszi (D) Hgpapeoi

134, “Bmriucarsin®” Umgwa
(A) @ebssgmpaini - {E} o T
I(GL Guwmpent I (D) Smoiunampeur
(E) eflen Qafilwaildens

135. gmnGeant, SO, curdet ereénggih GLIfSEnETS GQEmellL EREE <l LT,

lﬁ].- @@pﬁmﬁﬁg’.ﬁ?' I (B) - sbubsi
(C) &psor (D) wrefisseaunast

(E) eflen ﬂ‘é.lﬁuiﬁﬁlﬁ.‘iﬂ‘.lﬂ?

prened Blwmblwieut wrs
(B) m&dgi
FD)' Smepair I

136, ‘giflip ﬂp&lﬂﬂmﬂrlﬁ’ aarpenipdstBi

(A) prayssysi
(C)  Aysomat oo Gpal
(E) efanL Gsfwsilaae
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187. “Gorp  prd  eenideGomd  snO!  agsea  GaragEfoUdo,

sereouC g GUUEIEND, @bs0 CQumish ug prafd Wb FVSE o 10d)pa,”
eretry Eenmwimbblweurt

I (A) Cudissi sicmearms I
B) .9, GegcnSerener
(C)  wangon snpSunser

D) . cursrnsanm
(E) efleni Bafluetlaame

138. Qeerfly whmib cnengasm GTETD |_|§'iu_r g akisale slhé sllezsar Ehgeu

(&) seilsCar SILIED TELoman
(B)  safiGaipst qp. Gussr

I ©) sellgi FRGTT(R) ﬁLﬁlmmuﬂTrI
D) @reSipinpns e
(E) e Gafucioame

139, ‘ureuat wenf’ arergih UL Qubps sefligi

(A) 2 auenios seflgnit symr
(B) LimEeu g i LI el e i

I (C) sefig eumemfls mer s I

(D) seflgsit apig wipsan
(E) aflan_ Csfweldeane
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140. dlerauEauarabmicr wayamy miﬂﬂlﬂuu;q_ AP 1 mmmmﬂmmﬂr Qsfed (o

(A) ﬁsmh. Iﬁ:’-mr{:m_gmm. WTemilbmih, EGUMLh,  Leuemb, e

L|G@LITTELD, wrssh

b, st

I{B]. CanCugab, FHeuih, Heuamh, yeslignath, wossth,

eeu(Bflwih, encugibh

\pmemfl&ED. ¢

(C} {:‘Eﬂmﬁﬁﬁ, ﬁ-ﬁ'l_'rl_h_ L-lﬁfqlul:l'nﬁLtI, Ligiarih, Lnlj'ﬂ-'lﬁlh‘- mrrmﬂdinﬂ;mr EHJ

aneunth, eneu@uith

(D) GsrGugsb, fed, yspuprsnd, veaars, wyssb. S g

eneuiilk, sneu(filwih
(E) dflen Glaflwshldena

141, eflmardwisb — scm_bls.
(A} gugemmeln
(B) @G
(C) guuw

[©. 50 |
(E) eflenL Glaflwaliehenscy

142, cAaarappaps Caila| dalis.

'E.”T!

(A)  eupgemen
{B} m‘{'@g]
I{C_'l P Gu ke meHT I
(D) aups
(B) sflorr Omfluislome

"r' ' 75

g LD

Mary gye



143, aupsgenngrnsn veflunpilu sulpd selgyi

(A) #Apd | (B) ap.Cuogsn ;
IE]_ 5. Gesapiss I - (D) sgEr ;
(E) eflen Quflwelldeng
144, Quimsss :
(a)  snpflus sl l. &ggn
(b) e euemns sell gy 2. pmossa -E.Eﬂ@ﬂ'.
(€) waser seflgyi 3. amenfignee
(d)  aeflgCry 4,

ULR&EEsm e -
(@ () () (d
| A 2 1 4 3. I
B 4 3 3
€ 3 4w
Dy 1 2 3 4
(E) eflani el &M wef drene

145. "Q&ynpenswunt” ergyib pris psEns erdsdu sismQsd sime Aubpeu

I (A)  urBaupgt urpflgmaer » (B) sclgmir suraflsnsedr
(C)  scflwpen SEmeT S naan
(E) el Qgfiwcheena

(D) seligsi apiwwigsdn

146. “2emay, 2o, SipiL@Ls Comar - 2ipss Comaenwss Ligd Belgrags
Ppsd @b Ysssméarenadgs iU Geuamfih” i) & fliieu i

(A)  eySremd dusa ) Siflesit ieirenr, I
(C) eCausneansai

i
(E) el @zflueidma
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7, wrflér IEEET WTenaq
(A) 4- | @ 5

G ) 7
(B) ellen @sflwueidana

14

148. “&\qLD&EET srcidwn” — erartiubieug

I\E‘) Aeviugsnyh - I (B) wafiGunsoa
(C) Feus Apgmoenf] (D) g

(E) efleni @pfluieblebena

149, ‘Gunmips CsbS5 @il Ap@inGsms
‘qumds’ ererLiam(ELImeD m;ﬁi,t@é;m& sl
— @uum dild vl aiEo =yemfl
- (B) QUgHELIL| | pEF] <y G|

(A) Eaus sief
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(D) Cufies amigearma Yenpisamb

(B) sflenL Gsflusiidamea

164, @sEuut sudu@EssiuLTs upGonfews Garey Eals.
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(E) eflen @pflwichichana

i o CCSEZT/2024
[Turn over



166. “wnhgen Csrppapd SIS gyt erangih B ode e-sE50D DTBIL g g

gﬁnﬂgu”@mmﬂﬂﬁlﬁ
@A) uremCyy QuEEAselTanT

(B) uflorp sevoet

I (C) r CaauGmuwr ureumamt I

(D) Gsmospsy LmyBur
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D) ebpp 2,3 gaug, 1 &
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O proe D) o
(E) eflen Gsflwehldene
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(E) efen Gpfludidena
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(A) und, uep
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(B) eflen @sflucioma
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(a) ienan . Deoaszd
(b) &war 2. Fé@

(¢) senen 3. upm -
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(©)
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dlenL daflueiidamea
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ehleo Qzflweildaa
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2 Q&ET el ﬁ.LﬂH}I’I’&iﬂT Sldoigin @u@mmum YeobQuuwiss sllpisdr LbBlu
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UGH-2 ~ Quing) oyl
Part-B - General Enplish

cear 2 101-200 :
ITJ"EHI = {;Lﬂ" AT . -
MT. ons : 101-200 i Tﬁa § (e i
questt otal Marks : 159
it pul of late, my computer has been be thaving badly tog, TR
! IL s s0 absent- minded, that | don’t know whut to da”
pention the figure of speech used in the above lines,
(A) Simile I AB) Personification I
(C) Metaphor (D) Repetition
(E) Answer not known
102, But I know no better spectacle
Than a comet in full flight,
What do you mean by ‘spectacle’ here?
I jf@} unusual event that attracts attention I
(B) usual situation that attracts distraction
(C) expected event that attracts attention
(D) unexpected situation that attracts distraction
(E)  Answer not known
3. It's written in victory and defeat
And every trial a man may meet.
What does “it’ refer to in the above given lines?
(A (B) Hope
.4 Courage (D) Patience
% B} Answer not known
65 CCSE2E/2024
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104, Mat
{ﬂ?u;; % Poets with their Poems :
ary Botha . o Rive
m Howitt3 1. The River her families

1 - :
{.1} Eﬂl‘ﬂh]‘le J"'!ﬂ_ln EUWIEE Io2 Th'ﬂ Htfﬂi{‘l'"ﬁﬁl' .
{lﬂ RDI:"E‘I": FI'E}St- . q The Si?idﬂf 311{1 the [y :
= i 1 [ ﬂi'
() Edgar Albort Guest? 4 Stopping hy Woods o1 8 Wy
Evening
) S 1 MO 5 M (<
[ “‘éﬁ i 1 4 g I
(b} 4 2] | 1
@ 3 4 2 .1
(D) & 4 1 q
(E) Answer not known
105, For simple sheep; and such are Daffodils «
With the green world they live in:
and clear rills ...
The above lines were written By —
(B) Percy Bysshe Shelley

(D) Willian Werdswarth

“Come you back unta the fireside and be comrade with your kin"

106.

This line is ua.ken from the poem ,
(B) The River

' o Tres
3 The Qtick-Together Fami 1eu| (D) Life
(L) AT CWeT TI0T frTeree

107. “Still seeking what I sought when but a boy,
friendship, high adventure and & crown”

New

Wha wrote the above lines?

(A) Khalil Gibran e
nry V

() H.W, Longfellow - A ;ﬂ Dyke

(E) Answer not known e

CCSEZE/2024 66




'I‘r:u'!i:‘t‘ har

I_‘I.I:“‘ b ' iy
o Sachin Tendulkar.

g Y
1-1|1_r'|.l,
Iq_,r

I"'-" Ramakant Achrekar
(B) Aiit

(C) Sunil Gavaskar

(D) Sachin’s father

(E) Answer not known

.9, Tom used the pain killer to

(A) take care of his health

I }B’E mend the erack on the sitting room floor I

() to Cure Becky Thatcher

(D) help his aunt

(Bl Answer not known

110. The adventures of Tom Sawyer is a

(A) Short Story
(C) Fiction

(£}  Answer not known

/[ﬁi Nowvel

67

(D) Tale

d and see what magic can transpire’, was the advice
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"ﬁ,-:hl 5 I'ﬂ_‘l"“}i to the word 'H:][u.-_-ll‘ {1 ':"ﬂl'l“]]l'“‘

the SHnlence,

-2 10b 18 to Investigate —
.h_l-._.lﬂ'.h L! ' 'y
I 1'Ir|[1il-l] ]]h[‘:]“""nnnl
Yo M
(A

s :|I'|

%

(B non
{"r'l'g, super (i [
([) mswer ot known
. @llin the blanks with suitahe article,

[ndia 18 largest demoeracy in the world.
(A) an |fﬂﬂ the

(L) a
(E) Answer not known

 Identify the correct preposition from the options given below.

[ will have finished this essay Friday,

(A) in

(C) at W by

(E)  Answer not known

. Choose the correct question tag

This is the bus that [ have to travel, ?

(A) 15 this? (B} isn’t this?
(C) 1sit? (B) isn't it?
(E)  Answer not known X

Select the suitahle tag,

He lives in Europe, ?
1A} jan't he? 't he?
IC}  didn't he? ) doesn't he?
£} Answer not known /
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120, g
+ elegt ¢
he ETammaticall v correct sen tence

a
E'h::: E;i S0n 1'== -I':Hnd of music
© Mv :H TH I.ﬂr'u_l to music
@ M- S0n %H fond in music
¥ son is fond with music
A ®) and R (g1 Only () is correct

15 cOrrect I

(€©)  (a) ang (d) are correct I ,/f;@} Only (2)

(E) Answer not known

121. Which of the following is a noun’

(A Put (B) Walk
_ :Eg} Sun (D) Call ,
% ot known
129, A of birds were flying on the sky-

(B) group of

(A) swarm of
(D) herd of

[_© flockor

(E) Answer not known

1?::".-, Identify which is the correct gingular word and select the answer

from the codes given below.

(a) Crises.

(b) Media

(A) (m)isa singular word

(B) (b) is a singular word

(C) _ Both (a) and (b) are singular word
/@) Both (a) and (b) are plural word I

i ERL

|
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|

al.

nd [ Sunned it with smiles

[{if]‘l‘“l-"' the alliteration in t}h. given line.

(A) [-it (B) And - with

) Sunned — smile I

(D) Sunned - with

) Answer not known

. Tgwin, ran as fast as the wind

[dentify the figure of speech in the given line,

(A) Personification (B) Metaphor
| 1)/ Simile (D) Anaphora

15,

(E) Answer not known

Which of the given option is a Metaphor?
(A} Life is like a chocolate box

(B Raj is like his twin brother

I./f/f?] His words are pearls of wisdom I

tha,

(D) The bus is slow as a snail

(E)  Answer not known

7l
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127 |
. y ite sail’s shakj
eel's kick nned the wind= -'-i“i'IE.f”nd the whive 8 hﬂk]ng

L he above

|'_u]-l-J|.-iL‘ line.

Pick
O ; ;
t the figure of speech given in

(4) Ml‘-t.ﬂhlmr (B) Simile

| J(JC:I A“ilf‘ffﬂtiu]i I (1)) I'{F'I"-rrh”l“l

rE) Answer not known

1 ii : ~
28. “T must oo down to the seas again, 10 the

vugrﬂ“ '_ H-.}J Ph.}'r ]i..rl;'“

e —

Gypsy life means
(A) A Sea Captain’s Life

l/(ﬁ) A Wandering Man’s Life I
(C) A Historian’s Lafe
(D) An Explorer’'s Life

(E) Answer not known

129. “But we ants never borrow,

We ants never lend”
Why do you think ants neither borrow nor lend?

(A) Ants are not wise and hard working

(B) Ants are lazy
Ants are wise and hard working I

(D) Ants are wise and silly

(E) Answer not known
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\ 1LHI1.1'I is English

1

:-ul' Ld H'Hﬁuf and brown
!
qutumr is Indian

1.'\'hl-|wwr leaves fall down

s wrote the above poem?

4" Nisha Dyrene

(B) William Wordswarth

"0 D.H, Lawrence (D) Mary Botham Howitt

Bl Answer not known

1. “And one day, my naughty computer actually gobbled a worm,
_ And behaved so erratically that it made me squirm’.

The poet was made to squirm because of the -
the computer.

behaviour of

(A) absent-minded (B) dreadful

)f/if erratic (D) hasty
[E]

132, Every soul that touches yours
Be it the slightest contact

Who wrote the above lines?

William 8 are (B) Robert Frost
" George Eliot ‘ (D) John Masefield

(E)  Answer not known
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13:-_.2!. L ¥ & P :
State which statement is eorrect :

/’(ﬂ Little Czar was a European brown bear cub
(2) Little Czar was an Indian brown hear cub
(3)  Little Czar was an American brown bear ¢t b

(4)  Little Czar was a Germanian brown bear cub

@) 1 (B) 2
T3 D) 4

(E)  Answer not known

134. Who brought up Sir Isaac Newton?

(A) Grandfather | /{B)/ ‘Grandmother |
(C) Father (D) Mother

(E) Answer not known

135. Beauty lies in the beholder’s

(A) Head l/(/]{}' Eyes

(C) Brain (D) Ear

(E}  Anszwer not known

136, “My Reminiscences” was written by -

(A) Kamala Markandaya (B) Ernest Hemingway

() Toru Dutt I Rabindranath Tagore I
Vs

{E} Answer not known
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137,

ﬂeﬂd the following passage ¢

arefully and answer the questions given
pelow (197 = LBl

Raj was upset because he had done poorly in his English test. Hie

ﬁ-,-;mdnmther sat with him and gave him a pencil. A puzzled Haj
]m,krd at his grandma and said he didn't deserve a pencil after his
perfﬂfmﬁm’ﬂ in the test. His grandma explained, “wou can learn =
great Mmany things from this pencil because it is just like you. It
experiences a painful sharpening, just the way you have experienced
the pain of not doing well in your test. However it will help you be a
petter student. Just as all the good that comes from the pencil is
from within itself, you will also find the strength to overcome this
hurdle. And finally just as this pencil will make its mark on any
curface, vou too shall leave your mark on anything you choose to”,
Raj was immediately consoled and promised himself that he would
do better in future,

Raj was upset as he had done in his English test.
(A)  well I ./(’Bﬂmurly I
(C)  better (D) average

(E) Answer not known

138. His grandmother gave him a ;
(A} sketch (B) pen
Jeﬁl? pencil | (D) painting box

)  Answer not known
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139, G
+ UTANNnY ¢ :
l’l} Ll]mpm-mi T —— '|,|,.'||h r]||1 JH}HI'I i
A :
':. :. E“hl_[ I .. 1ﬂa 618 I
{{_"'} H_ﬂlui |::”:| H_“ji'!-'-n

E .
() ANSWer not known

Tt vl -
Raj's pain of not doing well " his ¢

of pencils,

(B) drawing

(A)  writing
(C) sketching ;Q/}{ﬁharpemng_l

(E) Answer not known

141. Raj understood that failures are stepping stONES to

I gﬂ'ﬂ SUCCESS (B consoling
(C) climbing

(1) strength

(E) Answer not known

Choose the correct mea ning of the phrase.

142.
Reconeile to
(A) Maintain m Accept half heartedly I
() Arrive suddenly (D) Continue

(E) Anzwer not known
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L OO 4 3 i . H
(oSt the correct tense fopm fip the following ser
“ENlenee,

d¥ o works hard, she —
| 2Nt — 1] b::'hu]:erhiI.

ould get
Jx Wi E “H W“UM luwp;‘m[

| Sl ¥
% (1) won't g
{ [}

golec! the correct tense,

{{you- hard you would have won the relay match.
{.-U will work B} works

«  working ad w
© L,(D?h vl worked

(E} Answer not known

. gelect the correct passive form of the sentence given,
ghe had already sent the parcel

The parcel had already been sent by her
¢ parcel was already sent by her

) The parcel was already sent to her
([E) Answer not known

146, Choose the correct Active Voice for the given sentence -
The rules should not be violated

(A)  You should violate the rules.-
(B) Anybody should not violate the ruless
) Aol rules

A} Nobody should violate the rules. I
(k] Answer not known

i1, Which of the following is suitable to complete the meaning?

[ stopped to him. ’
&) to talk | 8 taing |
(€} having talked (D) being talked

(B} Answer not known
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pptions.
@A) 1, urd behaviour
{H.} could not make out the meaning of h1® S hed person
LES
(C One who does not love one’s country ! s e
{[;} The chj] dren strolled through the mmu']u
o B
) The moon was bright and we could see our W

() Answer not known

148,

Picl
o B L
t the Complex sentence from the given

1 ; ,
49. Find out what kind of sentence is given below.

If he is at home, [ shall see him”.
(A)  Simple
I ./‘f{}:l Complex

(E)  Answer not known

(B) Compound
(D) [mperative’

150. Combine the pairs of sentences by choosing the correct sentence.

[ saw a Tiger. It was wounded

(A) [ saw a Tiger was wounded l [ saw a wounded Tiger I
e riger

(C) A wounded Tiger saw me (D) I was wounded by

(E) Answer not known

Identify the correct Degree of Comparison :

161.
(1) Very few people in this town are as generous as Mr. Mohan¥

(2) I cannot do anything better for you than this.*

(A)__ (1) Comparative Degree (2) Positive De

/(1) Positive Degree (2) Comparative Degrep

(C) (1) Superlative Degree (2) Comparative Degree
(D) (1) Positive Degree (2) Superlative Degree

(E) Answer not known

78 g:g
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+fy the figure of g i
, gentif | .IJ'EEﬂh employed in the t‘nlluwinglinau. \
" e pleeding bark will heal”,

17@4 personification | (B) Simile
0 Metaphor (D) Oxymaron

) Answer not known

g [ights flicker on and off

put fear takes over me.
dentify the Onomatopoeic word in the given stanza,
(o) fears (B) lights*

I /éf flicker | (D) on and off

(F) Answer not known

i1, “We were taken from the ore-bed and the mine,
We were melted in the furnace and the pit - e o




Ihl:'!ﬂﬂ'i“’_[ of the 'I,ﬁ,-'l'll'lf El_l j.ll"-‘:.'

(A brigk (B) courfigt

©) ease I /y[ﬂ risk

{E} Answur not known

15 . ] :
6. Str{mg is she in her faith and heliefs. |
Persistence is the key to everything”, S4Y5 & i

What does the word “Persistence” mean’

(A) grief (B) groans

}9}7 determination \

Answer not known

(D) moans

E

157. It's helping vour fellowman to score
When his chances hopeless seems!

The word ‘it in the above lines refers to

(A) hard work

-g?f]' team work

(D) smart work

(E) Answer not known
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r'

1o

le -,'-||'|'_'|fhd!-i are I{'-'krp]_h‘, {I:'|'|'|{ “I'Hl fll"!!'r
rut [ have promises Lo ’W"I'

pote the above lines?

.;.-‘ﬁ- Robert Frost (B) Sarojini Naidu

160,

161,

©) Nizha Dyrene (1) John Masefield

(£) Answer not known

Rut the gladdest sort of people, when the busy day is done,
Are the brothers and the sisters who together share their fun.

Who wrote the above poem?

(A} D.H. Lawrence

Aﬁ{lgﬁlr Albert Guest

() William Wordsworth ary Botham Howitt

(E)  Answer not known

The word ‘Plaintively’ means

(A) Happily ,,(B’F’Sﬂdly I
(C)  dovfully

(D) Depressively
(E)  Answer not known

Prospero’s daughter name was
(&)  Portia (B) Desdemona

© Jaiet | _®) Miranda |

(E)  Answer not known
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].ﬂj 'lhl‘h atll ,:-“HI'I'II.:I

ALAs the landform formed by

1y Sinkhole
"f“ "Alluvial dod

<= Fluvial Terrace
I () Meander I (1)

(E) Answer not known

. ira?
163. W]'l](‘h hist orical character il1F]11FL‘.‘d Young Indir

“Are
(A\) R ani of Jhansi I MJnan of Are
(€)  Sarojini Naidu (D) Vijayalakshmi Pandit

(E)  Answer not known

164. Why did we call Dr. Salim Ali as “Birdman of India™?

(A) _His

) " His immense contribution to the field of Ornithology I
(C) His research in Orthopedic

(D) His research in Water Movements

(E) Answer not known

165. In whose biography do you find this statement?

I would sweep them out of existence if [ had the power,

(A) Jawaharlal Nehpy

(B) Nelsan Mandela
lﬂ Mahatma Gandhj I (D) Abraham Lineoln

(E)  Answer not known
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\atch the words with their phrageg .
Words Phrases
Friendly relationship @-

a) 1, ran out
(b Meet by chances 2. getalong with
©) Use completely 3. poaway

{d] Leave from the FIIHCE & 4.  eome across

@@ ) [ (@

(A) 3 A 1 4
B 3 & 4 2
QO 2 4 3 1& I

167,

168.

&

oy 2 5 q 1
() Answer not known

Choose the correct synonym for the underlined word :

Fill all the bowls, tubs, pails and pitchers with fresh water.

(A) mugs &) jugs |
(C) buckets (D} pots
(E) Answer not known

Choose the correct ‘Synonym’ by matching Column A and B
Column A ~—  ColumnB
(a) Affluent 3 1. Widen
(b) Dilate | 2. Bpire
() Smacks 3. Wealthy
(d) Summit 2 4. Drive
(@ M) @© (@
Wy g e 4
s 10 4 iE
4 1 2
(E)  Answer not known
43 CCSEZE2024
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]Bg h‘!atch th;._

C Nﬂwﬁni“. viorh |':ll'!'|"f'”:‘r : {':'L}]I,Ilﬂn B
Olumn A

[nfinitive

(a) T
b) f"—?fluilﬂﬂ i8 healthy habit ? : 5 Present Participle
% like to walk parly in the morming 2.
f # = " [ agh
i'l ving walked a long distanct . Gerunds
felt tireq © , Past Participle

(d) These are my walking shoes *

(@) b (&

i i ¥
3 1 4 o
ey 1 8 4 2

Dy 3 1 g 4
(E)  Answer not known

170. Identify the sentence pattern of the following sentence.

' Lgai;;ted the car blue.
/L‘(? SVOC (B) SVC
(D) SVOA

(E) Answer not known

171. [dentify the sentence patiern of the following sentence.

y
ank moved to London

(B) ASVO

(D) SVIODO
(E) Answer not known
172. They rejoined the group as Sarah passed out o
(4, desen (B) dirt
I _,{(J! dessert I D) dish

(E) Answer not known
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porelfn * Exchange =

1 Find the blended word,

i A) Foreign chin nge

() Forex change “E;I"“"""H“ Bxeh e g
(K Answer not kl'[nwn I ADY'F orex
- which two words blend together to fr
| | i
o r l_l ]
(A) Cam + recorder (_.»-{’Rﬁam.;m o dey”
W {'3]"

() Camera + order
(E) Answer not known

(D) Cam + corder

1i5. Which of the following is correct for?
Overcoat

(A) Noun+ Preposition (B} Noupn + Noun#

() Verb+ Noun | B Preposition + Noun

(E) Answer not known

176, Identify the compound word that 1= :

Gerund + Noun

(B) Sun rise
7/ Bleaching powder (D) Sun set

{£) Answer not known

177. Replace the underlined word with its American word :

We should use the Bin for the garbage.

(A) Dust Bin L‘-_‘Eﬁ'ﬁ'ﬂsh Can I

(C) Garbage Bin (D) Trash Box
(E) Answer not known
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178, .
E::::i‘? llr-‘:l'l't ﬂ. brilliant dash,
It i & Fﬂd in a moment's flash;
1SN An instantaneous thing
Born of despair with a sudden spr ing

Write the Rhyme scheme of the poent:
(A) ABAB (B) ABBA

IF}Z AABB I (D) AAAB

(E) Answer not known

179. Speak gently to the young, for they

Will have enough to bear -
Pass through thig life as best they may,

T is full of anxious care!
ite the Rhyme Scheme of the given stanza.
If{ij}fﬁﬂﬁﬂ (B) ABBA
(C) AABB (D) ABAA
(E) Answer not known

180. And all I ask is a windy day with the white clouds flying,
And the flung spray and the blown spume, and the sea-gulls crying..

The rhyming words n the above lines are

;:'A,} wind}f. white {EJ spray, spume
(© clouds, gulls [ ®/Mying, cryin
J ying, ¢

(E) Answer not known
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181, You were the dad chosen for me

The author's dad was chosen hy -

(A) Mother (B) Neighbours

L_Iﬁ')? God (D) Friends

(E) Answer not known

182, Then my computer caught a virus, and fell very sick,
Qo I had to call in a doctor, double quick.

Why did the poet call the doctor?

I é&f /as the computer fall very sick I

(B) asthe computer fall down

(C) as the computer got hurt
(D) as the computer fall asleep

(E) Answer not known

183. “And all I ask is a merry yarn from a laughing fellow-rover,
And quiet sleep and a sweet dream when the long trick’s over”

The ahove lines are in the poem —

(A) A Thing of Beauty Wea Fever |

(C) Lessonsin Life (D) Making Life Worthwhile

(E}  Answer not known
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184, : .
Who was chirping at the edge of the woods?
(A) Cow (13) MonkeY

(C) Dog I (py Birds I

(E) Answer not known

Peter stopped 10 pick —

185. On the way to his home,
listen to the =

~pg the water falls
.{‘fﬁ? Blue flowers, the 4 bhits' soft tread J
(C) Yellow flowers, the Tabbils gﬂfrrrﬂ"l

(D) Yellow flowers, the water falls

Answer not known

(E)

186. The setting of the play ‘The Dying Detective’ 15 in
(A) Victor gavage's house
(B) A New vork city apartment

L Llr Watson's House
.-.‘rﬁl -
j Sherlock Holmes' bedroom '

Answer not known

(E)

writer.

an Dovle was a

(B) American
(D) French v

187. Sir Arthur Ignatius Con
(A) [rish'4*

L/}ﬁ? Britizh
() Anawemn—]m-nwn—l
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pﬁﬂplﬂ and makes them do great deeds”. Who quotes this?
(A) Dr. C.N. Annadurai (B) Gandhi
W Jawaharlal Nehru I (D) Abraham Lincoln

Answer not known

189. When was Qubash Chandra Bose born?

y?' January 23, 1897 I (B) January 23, 1891
(C) January 26, 1801 (D) January 93, 18495

(E) Answer not known

190, Helen Keller's Autobiography was named -

(A) My Story ( e Story of my Life

(C) Experiments with my Life (D) My Life

() Answer not known

181, How did Kalpana Chawla die?

I Q‘ﬂ/ é]:rm-e Shuttle Disadter I (B) Aireraft Disaster
(D) Satellite Probe Disaster

(C) Rocket Jaunch Disaster

(B}  Answer not known
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-

192. Choose the correct Antonym for the underlined word ‘Concentrgyy

from the option given.
(H) Preventalile

,_Lﬂl_muﬂm
[,Pf? Distract (D) Wige

Fa
(F) Answer not known

193. Match the following with correct Antonyms !
(olumn B

Column A
(a) hrisk » 1. happy
(b) desperate? 9 griticize
(¢} plaintive | 9. hopeful
(d) praise 1 4, dull
(a) (b 0 (d)
(A1 o 4 2
y 4 J 1 2
{L-rJ' =+ 1 R 2 I
(D) 4 1 2 3

(E) Answer not known
rd for ‘Violet’ from the options given :

194. S
lyﬁ/:ull.ra (B) em
(D} in

(C) super
(E)  Answer not known

elect the correct prefix wo

from the given pptions

195, Pick a suitable prefix for the given word

Understand

(A), re (B) ir
l/ft}r Mmis m_l {”} sub

(B Answer not kKnow
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af our great exploits,

right (B) reads
write (D) wrote

Fin d out the error part in the given sentence.
o :|i_1: JialE HIEMQIIIMH—EEEL—M&
A

5 1 found an one rupee coin {E} in the play.gmunrl
) LT ] B2 ] (D) All are 1neorrect

) Answer not known

2 tl:le correct article,

is has got to stop immediately; Justice ‘Mathematics said in
¢ stern voice, rappmg 2  hammer for silence in

(B) the, a, the
] @ aathe

her father saving, “Why are you so

(B) on
(D) with

HIISIH’E-EI and friend have comer
' _ﬁgr'mu.amﬂ as well as her Ermnds has received prizess

] .- ) Nﬁﬁhneﬂe? mmestmlate
ﬁmwer not known
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